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Botany
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Section Number : 1
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Number of Questions : 40
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Clear Response:

Question Number : 1 Question Id : 8135613041 Display Question Number : Yes Is Question
Mandatory : No

‘Diatoms’ the chief producers in the ocean belongs to group

RANTes” DAY ES\OTDT COITrdIL & VATIToID Do)’

Options:
Shime moulds

1 % 20 eaTmeren

Chrysophytes

ST e
2.4 & =°

Euglenoids
evbBL/gbnloblAt)

Dinoflagellates
. ESTEGES,

Question Number : 2 Question Id : 8135613042 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following sets includes the bacterial diseases?

S0 TS w%ﬂoﬁr S Iy TV DeSen?

Options :
Cholera. Typhoid. Mumps

| % SOT, O ané. (e Dewen

Tetanus. Tuberculosis. Measles

5 % t;am"fj@n. L-Ye5%) e:ﬁg.an

Malaria. Mumps. Poliomyetilies

5 x 0GB, (36 Dyen, TV 258D

Diphthenia. Leprosy. Plague

4V 30D T, ..'-‘.J%‘p :.1"5@, 2D J"Se.,’:

Question Number : 3 Question Id : 8135613043 Display Question Number : Yes Is Question

Mandatory : No

The given statements describe a group of organisms. Which of the following group 1s referred here?
(1) Instead of a cell wall they have a protein rich pellicle making their body flexible
(1) They have 2 flagella. a short and a long one
(11t) They shoe mixotrophic nutrition
(iv) They are connecting Link befween plants and animals

&d @E)Dé) T 29U dArFo HBothor. 808 T’ D dArire P wEE §DA Goidy’?

(i) D8 Bire Endderd ndeurr 2086 ey wos IS o Tod o S:d sgomomm
(1) 2w Eﬁ“eérvm 20801088 TR 6) Goch) §T°47e) ot
(i) ) b3 HEBS" Ty oS0y
(iv) a) 2008) U8 2oBIYVE) RO ABYY
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Options:

Dimoflagellates
ESFBTeSen

Slime moulds
20000 earexren

Desmuids and diatoms
Eoior o SdBaiw if‘aéf.w

Euglenoids
oxShe R lobh [N

Question Number : 4 Question Id : 8135613044 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Match the following plants with their modified roots?

Column - I Column-I1
(a) Vanda (1)  Pneumatophores
(b) Rhizophora (1) Chlorophyllous
(¢) Viscum (iii) Nodular roots
(d) Taeniophyllum (iv) Haustorial roots

(v) Velamen roots

Brbd 8),%) g o T 6 GrarodTred 2 ool ?

S0R - 1 200 - 1T
(a) deotr (1) TR
(b) p&'To (i) Zrdadaindo
(c) SJ":GE]o (ii1) e5"Cooen o) S
(d) SJardYo (iv) B S¢
(v) 20D W

Options:
1. (a=v)(b—i)(c—iv) (d—ii)

> % (a—1),(b—1iii),(c—v),(d—1)

3 % (a—iii),(b—ii),(c—i),(d—iv)

4 % (a—1iv),(b=v),(c—iii), (d—ii)

Question Number : 5 Question Id : 8135613045 Display Question Number : Yes Is Question
Mandatory : No
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Achlamydeous. cymose mnflorescence. with many male flowers arranged around a single

tricarpellary female tlower is a characteristic of

20 derdo, A3y DYy 33"5“:\}0, 88 A 1’.;))3"3&3 28 S0V G¥ O & Ay B0k
0200 ol YY) DT[R0 DA
Options :

Cymule

D20

Cyathium
5 ROIr®eie

Hyvpanthodium
TOSE dabo

Verticillaster

S82erR0
4. % g M 2

Question Number : 6 Question Id : 8135613046 Display Question Number : Yes Is Question
Mandatory : No

Identify the wrong statements regarding past-fertilization development?
DORECET oSS BDBYRS” PBAVIG 2D TE(e?

Options :

The ovary wall develops mto pericarp

- 90530 A DoSSdtor DA

The outer infegument of the ovule develops into tegmen

5 2e0nd ociEdtio 906 D SSWorT DA
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The ovule develops mto seed
3 % e9otio BT DEHRA

The ovary develops mto frut

4 % 9ol B 0300 DWOTT AT A

Question Number : 7 Question Id : 8135613047 Display Question Number : Yes Is Question
Mandatory : No

Nothing lives forever. but life continues, What does it mean?

B2 Do T3 So 5. 5 Bddo SHI LMD, T

Options :

Nothing can produce without death.

DAY B O SOND 570
1. ® =

Death has nothing to do with the continuation of life.

5 % BDS0 EXFEEIS O°) DA D T

Older die but new are produced due to reproduction
3 v FIO BAT'D 38 DBHND D0 DB

Parthenogenesis 1s must for sexual reproduction
9025 VA0 BIE Tohis DB D00

Question Number : 8 Question Id : 8135613048 Display Question Number : Yes Is Question
Mandatory : No
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Chasmogamous and Cleistogamous flowers are seen among the following except
B D)) 208y we” Diyd Voalrr Paryen AL Dodyd Doalr PIyew G
2008),

Options :
Viola

| % Sairer

Oxalis
. 335“3953

Vinca
3 :3:::‘5“

Conunelina

5§00~
4. %

Question Number : 9 Question Id : 8135613049 Display Question Number : Yes Is Question
Mandatory : No

Armrangement of nuclei in normal dicot embryo sac 1s

BLGY D2 DockE 80’ Sodsrw 02008

Options:
1.« 2+ 3+ 3

> % 3+ 3+ 2
3 x 2+ 4+ 2
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Question Number : 10 Question Id : 8135613050 Display Question Number : Yes Is Question
Mandatory : No

Select the correct sequence of Embryogenius in Dicots?

=N~ 1 Derees’ Dok 2D G O30S), VO DR So?

Options :
Zygote — Globular — Heart shape — Proembryo — Mature Enbryo
Rooing Do — Hvrsedo — TB0Ers do — DA Doto — DEY Motio

Mature Enbryo — Proembryo — Heart shape — Globular shape — Zygote
:.‘}55 dotio — 26 Sdolio — °G0irs°0o — Rorsdo — Ao03Vs Do

Globular shape — Heart shape — Proembryo — Mature Enbryo — Zygote

3 % Avrse6o — IMBaITS 0o — DA Doko — 0S¢ 2otio — oaiNs Dazo

Zygote — Proembryo — Globular shape — Heart shape — Mature embryo

) o Doosog Dazo — PG Dotio — Hvrsbo — IryBairsTdo — DS Doko

Question Number : 11 Question Id : 8135613051 Display Question Number : Yes Is Question
Mandatory : No

APG 15 a system of
APG 0250 5886m 3550 SIS BowoBodHE?

Options :
Artficial system

S8 SBESer ;:)5;3*:0
1. % Z @
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Natural system
Dir Hbscn ;55;3‘;&
® 5] @

Phvlogenetic system

356 Dst H0£06em SIS
3.4 70 o E

Chemo ‘fﬂ}iﬂﬂﬂnly
ol HBS6m T-o
# 0 =

Question Number : 12 Question Id : 8135613052 Display Question Number : Yes Is Question
Mandatory : No

Identify the labelled parts 1,2 3,4 in the below L
diagram of transverse section of an Ovary”? & =
3
Sobd 'a;ﬁsmdé ol 30do ﬁ{éﬁﬁé Heoes” 1,2,3,4 ' 4 '
TR loed? )
Options :
1 — Ovule. 2 — Locule. 3 — Placenta. 4 — Ovary wall

. | —e9ocio. 2 —Dewe. 3 — VLT .g“&'}n. 4 — evor0 B

1 — Ovarywall. 2 — Placenta. 3 —Locule, 4 — Ovule

S v 1 —evoc=dod B¢, 2 — OET R .g":{'.a. 3 —Dewo. 4 —e0to

1 —Locule 2 —Ovule. 3 —Ovary wall. 4 — Placanta
| —Dwo. 2 —eodo. 3 —eorrdah AE. 4 — ol g"ém

1 — Placenta. —Locule. 3 — Ovule. 4 — Ovary wall

-
L | — eocrg .g“rﬁn. 2 - Dewo. 3 —evotio. 4 — esorEo HE
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Question Number : 13 Question Id : 8135613053 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a Prokaryotic organism?
&S D)) IO Sogs o] ED ST

Options :

Bacteria
erSBosr

Cyanobactena
20T ergboir

Mycoplasma

EFIF)

Spirogyra

) 800

Question Number : 14 Question Id : 8135613054 Display Question Number : Yes Is Question
Mandatory : No

The non-membranous organelle found in Prokaryotic cell
SogiS JPOY SETee” Got BEd Card SeFrorio

Options :

Ribosome

1 Qa?ﬁﬁu
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Mesosome

L o Vo

Chromatophores

g 2065°°6

3. %

Plasmid
4% TOE

Question Number : 15 Question Id : 8135613055 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The cellular pool provides all the necessary materials for the structure and

functions of a cell
Reason (R): For the survival of a cell. steady state withun the cell s necessary

R3ydo (4): S22 ANEFAD S8 TS, DEL AS(BEBETAS WSV B

fbm“g“vm 290 Q0tIAD

560 (R): S0 R0 800 Srod)’ o fg@ 000

Options :
Both A and R are correct
| @ A SHobBacin R e Cotlr ‘.-‘ag.ﬁ.b

Both A and R are not correct

- A Jobain R e Gods 00D 57

A 15 correct but R 1s wrong

3 % A 20XS 572 R 257
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A 1s wrong but R is corract
A 28570 570 R 2000

Question Number : 16 Question Id : 8135613056 Display Question Number : Yes Is Question
Mandatory : No

Spindle formation can be disrupted by exposing cell to the microtubule poison?
g ISV 206 ;'Jc:r“g“fa% dBob o (T S0z e Of G806 Dot

Options :

High concentration ot 0,
IS TrES e e%;jee;&

Vitanun A

, % DDA

Cholesterol

E“ej@no.‘i

Colchicine

Question Number : 17 Question Id : 8135613057 Display Question Number : Yes Is Question
Mandatory : No
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Select the false statement?
(1) Living process 1s a constant effort falling into equilibrinm
(11)  Energy can enter and leave a cell
(111)  Matter can enter and leave a cell

(1v)  Metabolic pathways are mterlinked

BHS DD T ES” V0D TS SIG IB?
(1) 23 dode VBoddd Sy PODAT &oC, amaﬂi’gfy:} ERD
(i) 38 80’8 HITodtio SHBOIDL DeVIELC 26D
(i)  Dordo SeaodS"s HFordtio IBALL DVDELE AR
(iv) 23803F HErew 28 IS 2,88 Dokt sgmamm

Options :

(i) only
| o (@) rg

(iv) only
5 % (iv) S&o-sddo

(i) & (iv) only
3 % (i) & (iv) o

(ii) only
4 % (ii) So-edd0

Question Number : 18 Question Id : 8135613058 Display Question Number : Yes Is Question

Mandatory : No

The dendrochronology is based on

Col S Troa A er6HERN

Options :
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Number of medullary rays
B3¢ Saw SEENS

Number of annular rings

- :fgs Seoire “:anaaﬁ

Number of cambial rnings
:JE,J“E’.-& SETSHY Swoiry o2y

Number of vascular bundles
TYST DoTw o8y

Question Number : 19 Question Id : 8135613059 Display Question Number : Yes Is Question
Mandatory : No

Label the parts 1,2, 3,4 of the Lenticel structure

shown in the figure?

D808 WA Trodnbeg Du"éeaaeﬁ‘ 12,34
TR MBotol

Options:
1 - Epidernus. 2 — Complimentary cells, 3 — Cork cambium, 4 — Secondary Cortex
. 1- wbﬂ-’s t:ﬁdéo. 2 -RoYpss stren. 3-8 De;“a5 Serav. 4 - éséai; DY) o

1 — Cork cambium. 2 —Epidernus. 3 — Complimentary cells. 4 — Secondary Corfex

1 — B0t Da;“aaé Serde. 2 - EF.'J“'S ﬂbd@}o. 3 —RoJPds Sea. 1- ﬁsefao:b ) o
2. %
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1 — Complimentary cells. 2 — Secondary Cortex. 3 — Epidermis. 4 — Cork cambinm
3 ¢ | — DoYP0s stren. - -:55595013 JW) Lo, 3- w;‘Jﬂé éﬁén. 4 - Botd Da;rﬂavs Shegel

| — Secondary Cortex. 2 — Cork cambium, 3 — Complimentary cells. 4 — Epidermis

4 % 1- &Se‘iaam D) Lo. 2 - 8ot EJa;“ae.'S SErdY. 3 - Vopds Seren.  4- EPeTy r.‘.‘)déo

Question Number : 20 Question Id : 8135613060 Display Question Number : Yes Is Question

Mandatory : No

Identify A. B and € n the given diagram of shoof apical

meristem?

Bridd NS D506 o Da_w]g goarerod’ A B, C o

0ot3oct?
Options :
A —TLeaf primordium. B — Axillary bud. C —Vascular bud
- A —Dg edo. B — A3 2. C - TPsmoa) 2wof
A — Leaf primordivm. B — Axillary bud. C — Vascular fissue
, o A-D8 edp. B- 3 2od. € —379s° smareo
A — Shoot primordinm. B — Axillary bud. C — Vascular tissue
A — D570k 500, B -3 2. € - 79 gmrvo
3. %
A — Shoot primordinm. B — Apical bud. € — Vascular tissue
. A — DsPoc Bdio. B-§8& 200, C — =95 Sereo
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Question Number : 21 Question Id : 8135613061 Display Question Number : Yes Is Question
Mandatory : No

Select the correct statement with gymnosperms?
DBy Do) VorroBod VBOGDD T°Ef0?

Options :

They have sieve tubes and lack phloem fibers
2D o) TV $daiuedry Mbaby T snwrw Tow $d8edd

They have albuminous cells and lack companion cells

- eywaa’_ba‘:i: e sgmmcmm S080H) DIPETEeD &5 Hotia

They have albuminous cells and companion cells
@EJJQ&JF&E SEFLAD 00aiL VEPSETL S%Dﬂﬂu{:‘.&m

They lack companion cells and have vessels
RISETen & Doty Sbain e Trveed $dotiwocod

Question Number : 22 Question Id : 8135613062 Display Question Number : Yes Is Question
Mandatory : No

Secondary succession takes place on / in
&E@Qﬁ e g A00 FrBoBA0D DEFo

Options :
Newly cooled lava

L x T DORCD ST(S D6\ED DB

Bare rock

5 ATy BT DBBo
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Degraded forest
RO IR
J | T

Newly created pond

4 % g?_?ﬂ"’ g)ﬁ;jd.-‘ﬁ roﬁ::ub

Question Number : 23 Question Id : 8135613063 Display Question Number : Yes Is Question
Mandatory : No

During ecological succession

235082 Rokiodd eSS0’ 2876

Options :

The numbers and types of animals remain constant

. 2oBOPL Vo, 6DV ‘f’madarw G0t
1.

The changes lead to a community that 1s in near equilibrium with the environment and is

called pioneer community

md’b”bl WSG 28 fgd@a, DS Femfgaé BAOM™ ) B8V VoA
- S)dbdoarﬁ). &I Fboz oo L9otrdd

The gradual and predictable change in species composition occurs in a given area

3 o WS DB%08° SATRABOMT IR VoINS Erarotdie) S0 ciyen aditio

The establishment of a new biotic community is very fast in its primary phase
4% 26 B3 Aol wE 58 25 a3 dec:eao 2ot 200

Question Number : 24 Question Id : 8135613064 Display Question Number : Yes Is Question
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Mandatory : No

The fust 5 C dicarboxylic acid in Kreb's cycle which is used in nitrogen metabolism 1s
Aad 23300E” &HEr Rt EAN H005e8°A 5 € £0Ad QE"U"é%aﬁ B0 J6?

Options :
0AA
OAA {e;ss‘:j&‘f 935 00)

Citric acid

2% 23{3{5“%}0

a — ketoglutaric acid

& — S85°rerds 00
3. ‘\‘i-"‘"ﬁ - ]

Acetyl coenzvime A

4w ONOS EdoZo0 A

Question Number : 25 Question Id : 8135613065 Display Question Number : Yes Is Question
Mandatory : No

The first stable compound formed in €4 plants
Cy AWEY,OS” IG\E D DB DEdo

@ = =
Options:

Pliospho glyceric Acid
Sr“ﬁﬁ:}ﬁeaﬁﬁ £330
1. % i =

Pyruvic acid

5w DOETIS 8000
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Oxalo acetic acid

_— €55-65° JEIS €308

Succinic acid

4 % PSS BRAL

Question Number : 26 Question Id : 8135613066 Display Question Number : Yes Is Question
Mandatory : No

‘Lock and Key™ hypothesis of enzyme action was given by
DoBD0 W| (Ar8y B°Fo Sy — Vo B DBSVYDW DAF BV

Options:
Fischer
B

1 v =00

Koshland

5 % §aerol

Buchner

3 % ws‘lﬁ

Kuhne
4 % Som

Question Number : 27 Question Id : 8135613067 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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During Z scheme electrons excited by absorption of light in PST are transferred to the primary

acceptors and therefore must be replaced. The replacements come directly from

Z - 56808 PSI 5708387 firotdtio v 6828209 TR FES TS H(E6D
ST DTN, VDY & VTV 28 G B Ao, HWok?

Options :
1. % NADP

, x ATP

75 II
STodd .‘515;.‘)'5& ~ T
L @

Water
4. % QO

Question Number : 28 Question Id : 8135613068 Display Question Number : Yes Is Question
Mandatory : No

Identify the labelled parts as 1,2, 3, 4,5 of the Water movement i a leaf shown mn the figure?

$08 D008 PR Do’ D %o 030, 1,2,3,4,5 FrOd MBersel?

Options:

1. %
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| — Palisade. 2 — Guard cell. 3 — Xylem. 4 — Phloem. 5 — Stoma
L — ot 2,8 Sea2r00. 2 — 6LS S0, 3 — A, 4 - g gmereo. 5 — D8 Bogo

1 — Guard cell. 2 — Xylem. 3 — Phloem. 4 — Stoma. 5 — Palisade

. | — 088 S0, 2 — TR, 3 — IS Eeervo, 4 — DY Gogo. 5 — ‘:‘gnm 20y S8 Vo
2.

1 — Stoma. 2 — Palisade. 3 — Guard cell. 4 — Xylem. 5 — Phloem

g 1 -8 Gogio. 2 - Dot £yt Sz, 3 — GLS Seao. 4 — T, 5 - Tias snareo
3.

| —Xylem. 2 — Phloem. 3 — Palisade. 4 — Guard cell. 5 — Stoma
. | — ). 2 — s goerwo, 3 — ‘gom S0y Se2PR0. 4 — 685 5850, 5 — D& GoGo

Question Number : 29 Question Id : 8135613069 Display Question Number : Yes Is Question
Mandatory : No

Select the correct option that identifies the nature of apoenzyme and cofactor correctly?

8 doB0 HBAID VIFEEsow REFTY RBTT (1Botd VT oS0 dotE'oc?

Options :
Apoenzyme — Protein. Co-factor — Non-Protein
| v OTDoED — DS. PIFSEse — 8D 56
Apoenzyvme — Non-Protein. Co-factor — Protein

sdoZ — TS 8. DISE8e — IOS

Apoenzvime — Protein. Co-factor — Protemn
odoz — IS DIFSGEe — TS
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Apoenzvme — Non-Protein. Co-factor — Non-Protein

Y doBD — TS =6, PS80 — OO 58

Question Number : 30 Question Id : 8135613070 Display Question Number : Yes Is Question
Mandatory : No

Study the following statements of plant growth. Choose the correct option?
(1) One single maize root apical meristen can give rise to mor than 17,500 new cells per hour
(i) A cell inwatermelon can increase in its size up to 3,50,000 times
(111) Growth of pollen fube s measured in the terms of ifs length

(1v) Growth in dorsiventral leaf 1s measured i terms of an merease m its surface area
2080 e Sod HSLILA OE{ALo Bafod. HTY Do) oS o]
() wgED) 30 ef Deg"a.-:.'g $taaruod'™ &S 8o DR Bod Aobd” 17,500 §¢ srrew ﬁ)djcb@"an
() usyerasog* sereo 3,50,000 B 362 00870’ 2L
(111) DTHTFo DHEDD T &gbagn" IV
(iv) 9T6 o dixbriv o &ddve drejo daMEUT S
Options :
(i) & (ii) only
 x () & (i) 2rgdo

(ii) & (iii) only
5w (i) & (i) Sg3o

(iii) & (iv) only
, e (i) & (iv) g

4 o @, (i), (i) & (iv)

AP EAPCET 2021
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Question Number : 31 Question Id : 8135613071 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following sets includes the bactenial diseases?
$o8 T8S° D HAS ergBOS TBS RoroBod) Sotod?

Options:

Chelera. typhoid. mumps
SOT7, HI"0E. ADGDTeD

Tetanus. Tuberculosis. Measles

- 36720, m}imas:?ges“bfa (g0m), den

Malaria. Mumps., Poliomyelitis

5 x DTBAIr, 456DV, TDArIOD

Diphthena. Leprosy. Plagne

y v E22808T, S50,

Question Number : 32 Question Id : 8135613072 Display Question Number : Yes Is Question
Mandatory : No

Select the imncorrect statement with reference to structure of TMV?
TMV Qo ERS RotoBot) DBGNHG 57 T°Sfo

Options :
The capsid 1s made up of 2500 capsomers
STy 2500 50’ oHELE HoP SocdD
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RNA consists of 6500 Nucleotides

RNA &5° 6500 & mﬂﬁécﬁrﬂmw EocA)
2. % AN

It has molecular weight if 39 x 10° daltons
& evcreTCo 39 x 10° oo SISTIV

It has central hollow space of 4nm

n s yooide aﬁ:c‘,’:&eﬁi 4nm e5°en DBFo ot

Question Number : 33 Question Id : 8135613073 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): Dominance 1s not an autonomous feature of gene

Reason (R): Two traits show up equally i the heterozygote's phenotype m codominance

NEyBo (4): warddo BB w8 B[R A0S, D{Bed VLMo S
5°6t0 (R): 2% &Ji?ﬁ@égo&ﬁﬁ Elamo&nﬁéa:- &3 Graod)’ 2 LEEFL NATDT Gotraw
Options:

A 1s correct but R 1s wrong
A 2008 572 R 2057

A 15 wrong but R 1s correct
A 20570 570 R 20206

Both A and R are correct

3 ¢ A SBoiw R e Gotr 280

Both A and R are not correct
A Hdoi R e Cosr ﬁg-ﬁﬁ 57
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Question Number : 34 Question Id : 8135613074 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement on Mutations?
&38I0T"VL Rotlodor) VBAVD T°Ejo 5B VBT

Options :
Results in Alteration of genes
2RAEFDOS" D070 Sr8 R0

It leads to variation i DNA
DNA & 2dgrjen SoBain

Alteration in chromosomes results i1 Aberrations

- Sard’os’ Jrdye 9 IDETe DoyE

Point mutation 1s seen i Phenylketonuria

DS 65 dr(Baire” Doty GBBIGIL S ot
4, & 2) 2. &

Question Number : 35 Question Id : 8135613075 Display Question Number : Yes Is Question
Mandatory : No

The codon which codes for methionine and also acts as inttiator codon
6oz §T-R T, DAWFAD R S BArd) Ardedd M &) STl

Options:
1. % UUG

5> % UAG
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3 % AGU

4 v AUG

Question Number : 36 Question Id : 8135613076 Display Question Number : Yes Is Question
Mandatory : No

In Eukaryotes the regulation could be exerted at the following levels, except

Dadeds BHwes” Jabedn GIve” GG

Options :
Transcriptional level
1 % R0 Gdo &

Processing level
DSah &5F

Translation level
e9RDT°C C3%

Untranslated regions

4 29500 9G 0TI AT LW

Question Number : 37 Question Id : 8135613077 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following steps of PCR in a correct order?

PCR bg@ﬁe Ea‘)i cs3wes” P00 HEOR oo’
Options:

AP EAPCET 2021
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Amplification — Annealing — Denaturation — Extension

D — 28 DOD DA — DA IS0 — Téhod)

Extension — Denaturation — Amplification — Annealing

2. %

Fihor) — DFErAEom0 — VO — B DO D30

Denaturation — Annealing — Extension — Amplification

3.¢

DI EEDEGE — 2 DOD PR — TERR — e

Annealing — Extension — Denaturation — Amplification

Question Number : 38 Question Id : 8135613078 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

L B DOB G — TR — DFErdstne — DG

Plants

Character

Effect

(a) Flavr Savr tomato

1) Vit-A

(p) Abiotic and biotic stress

(b) Golden rce

(1) Male sterility

(q) long shell Life

(c) Basmatirice

(111) Bruse resistant

(1) Prevent blndness

(d) Brassica

(1v) Resistant

(s) Eliminate manval emasculation

S8 TN BdHGE]
208 UH rde
(a) OO APER | () dad-A (p) &3, IJQ;: DELTW

(b) exorrd) 58 () i Sog{so () dsy Baren Jeg soticio
() 0 20 (iti) rrodred) SRS Qo | (1) ol AT
(d) rhe (iv) Do (5) Dyonsten PR Sootsio
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Options:

, » (a—ii—a)(b—i—p) (c—iii—r) (d—iv—s)

> % (a—i—s)(b—ii—q),(c—iv—p),(d—iii—1)
3 % (a—iv—r),(b—ili—s),(e—ii—q),(d—i—p)

g v (a—ii—q),(b—i—-r),(c—iv—p),(d—ii—s)

Question Number : 39 Question Id : 8135613079 Display Question Number : Yes Is Question
Mandatory : No

Study the following statement regarding rDNA technology and select the incorrect ones?
(1) Taqpolymerase extends the primers using the nucleotides provided in the reaction
(1) Antibiotic resistance genes are considered as desirable genes in rDNA technology
(1) DNA fragments are separated according to their charge only. in agarose gel electrophoresis
(iv) Transformation is a procedure through which a piece of DNA is introduced in a host bacterium
(v) To produce higher yields of a desired protem. host cells can be multiplied in a continuous culfure

(vi) Downstream processing is one of the steps of PCR

rDNA ro3dsds) Motioow) Sod DELRUM @qi,soimo anbgo& 00D VE5°R w8 TR amﬁ oG.”
() d6 wd\® drdairodd erd IB0E pivgi TEARE Sotitol
(i) rDNA Rroddigad’ arg)ds s Rlifnlc BRIV Tod 2RI BAET6
(i) erBE 28 JuETERRS" DNA doderen ) eiddo 5700 Argd Sy
(iv) 96368 w8 gén‘.b 6 oo DNA 5008 % #0801 £r8Bae I HIToBSE
(v) savds T aig), eis Bbacs edGow Sk By or bgrﬁoeﬁ‘ bacgfioﬁéma
(v) ez psab PCR aig), &8 3

Options :

(i), (iii) & (vi) only
Lo (), (i) & (vi) -
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(i), (iii) & (v) only
, (@, (i) & (v) 2rgd

(i), (iil) & (v) only
L o (D), (i) & (v) ared

(i), (v) & (vi)only
4w @D (V) & (vi) gD

Question Number : 40 Question Id : 8135613080 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following steps in plant breeding in an order
(a) Evaluation and selection of parents
(b) Selection of testing of superior recumbents
(¢) Collection of variability
(d) Testing. release. commercialization of new varieties

(e) Cross hybridization among the selected parents
QL) © DWAVS” BRVVBB GBIV SR Evo

(a) DIV, BASVL oS

(b) 56690, DT PDIDed@ras LR DOLoSto

(c) DSBS DECE

(d) DBE oo, Dedcw, EG Jrrdds e I7(A-6s6e

() Qo8 Do 2SI 06| Dosdeo

Options :
1.8 (@ —=(d) = (e) = (c) = (b)

5 (@) = (b) = (d) = (e) = (c)
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3 v (€)= (a) = (e) = (b) — (d)

4. % (€)= (e) = (a) = (b) = (d)

Zoology
Section Id : 81356168
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 41 Question Id : 8135613081 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Homologous characters are originated from a different ancestor
Reason (R): wings of sparrow and finches are homologous

TGS (A): DRy ;;:JHE'SSJU Aot SJw&ﬁaﬂmﬁ VLT adabét'om
s°deo (R): bmas 0g), oo 2ot 05,0 :)U"ém«%“m?g pS0hT VL &g
Options :

Both A and R are correct and R 1s the correct explanation of A
1 % A S0Boiw R ed Gottr 28 900D, R 038 A S 200w D506

Both A and R are correct and R is not the correct explanation of A

5 % A 208080 R 2 TGotir 20 290056, R 02238 A & 2809008 3506 S°c
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A 1s comrect but R 1s wrong
A 20AS 570 R 2857w

A 1s wrong but R is correct

4 A 28570 570 R 2oRE

Question Number : 42 Question Id : 8135613082 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are wrong regarding biodiversity?
i) Tropics harbor more species than temperate or polar areas
1) Terestrial biodiversity increases from the equator fo the poles
i) Pattern of biodiversity should not depend on latitude and species area relationship

1v) Biodiversity exists not only at the species level but also at the levels of biological organization

v) Temperate regions are relatively more constant than that of the tropical regions

AT RozdoBodd & S0 D DD HB5°Y’
i) :}m%&ﬁg I G)5r0mvsol] &loterey BBS &2 rdwid sBicotraw
i) 25260 ArSE] S o G)TUIYL ¥ Fed DAidd
if) 259865 Jaden eFodo 2000k 28 INGE" BotorTep BTEIEE
iv) 25260 2S00 g“cmé"f) TG 83 AATR0 g“cm 368 DBl Gotwod
v) Ghdodered JOY vinddnduets Trericn HBdEL A ey S8 dotraw

Options :

(1), (iv) & (v)only
L (1), (iv) & (v) 3

(it), (iii) & (v) only
, o (i), (iii) & (v) argo

(ii), (ii) & (iv) only
L w (i), (i) & (iv) srgd
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(i), (iii), (iv) & (v)only
4w (i), (iil), (iv) & (v) argd

Question Number : 43 Question Id : 8135613083 Display Question Number : Yes Is Question
Mandatory : No

Homeothermy i humans is maintained through

23S B &6 AR D Dddorr DaboBewsecdduod?

Options:
Warm receptors

| % DE [TIS°eD

Cold receptors
5 % BBV TIVED

Thermo receptors
a‘?’g TaPSTe

Negative feed-back loop

4 doea :g_')é&‘lﬁ}g 3s(o

Question Number : 44 Question Id : 8135613084 Display Question Number : Yes Is Question
Mandatory : No
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True symmetry found in an animal which can be divided mnto two similar halves by one plane
only is

N2 TS0 §OA 20823 Gir 6| v ol Tob a8 wg Bve Aol BReRYE
Srg Both AP &6 e 26\CA A WOt d)

Options :

Radial
| % PalSlont] ﬂ“@;ﬁc

Spherical
og Jdo

2. %

Bilateral
- :553“635 %‘“ﬁg;ba

Biradial
4 % & oo if"‘g;ﬁa

Question Number : 45 Question Id : 8135613085 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column I Column I1
1) Satellite cells a) form myelin sheath
i1) Microghal cells b) providing blood-brain barrier
1) Ependymal cells ¢) surrounds the cell bodies in ganglia
1v) Oligodendrocytes d) movements i cerebrospinal fluid
V) Astrocytes e) Phagocytic cells

S8 TR BdOGIed’
Son 1 Sdon 1T

D) enf goren 2) 000D \Go D6\Griw)
if) 205 Aabes Seren b) 650 e wbb’m‘.ﬁi Q0 Gee)
iff) el Eeren ¢) TE 08 SrdFu) B3Boe
iv) esdF Eol e d) Ny hEdan sedsew
v) Ugﬁgﬁh ¢) 2Es seren

Options:
| @ (i—c),(ii—e), (iii—d), (iv—a),(v—Db)

) % (i—a),(ii—e) (ili—b),(iv—-d),(v—c)

5 % (i—¢),(ii—b),(iii—d),(iv—a),(v—e)

4 % (i—a),(ii—e) (iii—d),(iv—c),(v—D0b)

Question Number : 46 Question Id : 8135613086 Display Question Number : Yes Is Question
Mandatory : No
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Radial symmeiry is often exhibited by animals having
BOTLT DES20D EJHen a“éé“g 3"%1;50&) 2B F;.é“cm’.'

Options :
Ciliary mode of feeding
30s=svah TS Eapew

Sedentary nature

S v g“mmg EaHew

Aquatic mode of living
20 e

Tadpole mode of feeding

, v TETS o) dipew

Question Number : 47 Question Id : 8135613087 Display Question Number
Mandatory : No

Study the following statements about crustaceans and identify the wrong one?
R0 S0 DELAVA BEBIol. BYYT DEBoBWED VEED) (B0t

Options :
Branchiae are respiratory organs
- TR 50DIT — eroSad

Cephalic region bears two pairs of antennae

_ FB2PA00S” Totd 290 VnGyE0rTed EobTa
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Coxal glands are excretory organs

- §648 (ocioen E}rogs esH0i T e

Development 1s indirect with many larvae
DD G570 doisrod HBE SRR N

Question Number : 48 Question Id : 8135613088 Display Question Number : Yes Is Question
Mandatory : No

Segments of tapeworm are called

BIBLHAM Do (L DS LOR) DI’

Options :

'STICEICus

v 0

F.

‘rbﬁbra

ges "

Progloftides

5 v STeE

Scolex

Onchospheres

4 % Eoggbbﬂﬁjﬁj

Question Number : 49 Question Id : 8135613089 Display Question Number : Yes Is Question
Mandatory : No
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1
2
In the given diagram of the digestive system of
earthworm. identify parts labelled a5 1,2,3,4 & 5 3
and select the correct option?
B3R TIF 0 a@.g;ﬁrgbfg AN Hochy 2rrTren
1,2,3,4 & 5 040 080D 938 DAFER) Jods
4
Bobok?
5

Options :

1 - Gizzards. 2 - Pharynx. 3 - Intestine. 4 — Intestinal Ceacum. 5 - Lymph glands
- 1- 06 2660, 2 - 0. 3-2. 4-omodTven. 5 Fadh od

1-Mouth. 2 - Pharynx. 3 - Stomach, 4 - Intestinal Ceacum. 5 - Lymph glands
« = S, 2-620.  3-dgtodo. 4-GoTosTVen,  5-F00 fed

1 - Pharynx. 2 - Gizzards. 3 - Stomach. 4 - Intestinal Ceacum. 5 - Lymph glands

3 @ 1-400. 2- 90830 268650, 3 - e&g"-‘acmo. 4 - oTrolTveen. 5 - §20% (od

1 - Pharynx. 2 - Stomach. 3 - Intestine. 4 — Intestinal Ceacum. 5 - Lymph glands
4 % 1-6d.  2- é,g“én:bo. 3 - . 4 - somolTven. 5560 (jod

Question Number : 50 Question Id : 8135613090 Display Question Number : Yes Is Question
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Mandatory : No

The ftirst tetrapod vertebrates are descended from

D 2rBG8 & Wod FO BSB0ING PEFDE AP B Borrow?

Options :
Osteolepid group of jawless agnatha
BIMTTOE DTS Bodd BIEL G IS 2PHY Aow)

Ostracodern group of jawless agnaths
eV EB) DIAVT TS TobD BSEeD G DS EHv o)

Osteolepid group of jawless extinct fishes
SJCPTDE RAEOIFIS BoBR GG T e BHY Aot)

Dipnoi group of extant Osteichthyes fishes
é&lm RANE"OIrDS Bodd Do) &Y BREH BHW Aow)

Question Number : 51 Question Id : 8135613091 Display Question Number : Yes Is Question
Mandatory : No

Birds are glorified reptiles. because the birds evolved from the reptiles and also they share the
characters with reptiles?
500 B(R0% 820, DocdBEHAM DL VB Modt HBEFVe Boditied” e
& $08 DORT VTV DoDE otraw?
Options :

Poikilothermic. anammniotic C eggs and epidermal exoskeleton

e8], Ee.:ac&ﬁ:“@ 0L 20BOI IS oY 2203080
1. % ® :
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Poikilothermic. amniotic C eggs and epidermal exoskeleton
OV0Y, GV Bolme JBOIN EFITC) LRV

Homeothermic. ammniotic C eggs and dermal exoskeleton

lop-ol &Ua?obﬂej e9orrel S0BaID ) e
3.% @ @ e 2

Epidermal exoskeleton, ammniotic eggs and uricotelism

v EPIT[ES0), rendaew, SRS olre JoBCKD osrB8 G020

Question Number : 52 Question Id : 8135613092 Display Question Number : Yes Is Question
Mandatory : No

Match the following correctly related fo cartilaginous fishes?

Column I Column II
i)  Sphvma a) Sting ray
i) Torpedo b) Dog fish
) Trygon ¢) Saw fish
iv)  Pristis d) Electric ray
v)  Scoliodon e) Hammer headed shark

& Sobd memwfg WHVRA VBT 2SDGWC.?

20 1 odom 11
) 2o a) DY) Sod fAw B
i) ePByE b) T &
111) gnnb ¢) GodY B3O
iv) 22D d) ey B0
v)  dared e) Ad do B

Options :
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1 % (i—e),(ii—a),(ii—d),(iv—c)&(v—Db)

;> % (i—¢),(ii—d),(ili—a),(iv—e)&(v—>b)
3 % (i—e),(ii—a),(iii—d)(iv—e)&(v—Db)

4 (i—e),(ii—d),(ili—a),(iv—c)&(v—Db)

Question Number : 53 Question Id : 8135613093 Display Question Number : Yes Is Question
Mandatory : No

Entamoeba histolytica has
Dotrer T TS Dotobor) LD

Options:

Pseudopodia fornied only of ¢ytoplasm

3.1}5}"55‘(;‘}9 2.5 Dorde Aod QTG0 deciam
1.4 @

Sexual reproduction of primitive type
5 TS Tofis er}‘séjhe_:_a 20365080

Four parapodia formed from cytoplasm

8.9 DHorGo Aol e ﬂ“dgsbﬂm“m 5)1:&35.‘.3:&3
3. % ®

Regeneration
, x DRSNS

Question Number : 54 Question Id : 8135613094 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to sexual reproduction in protozoa?

ListI ListII
1) Hologamy a) Plasmodium
1) Amphimixis b) Monocystis
i) Anisogamy ¢) Tnchonympha
1) Isogamy d) Union of pronuclet of the gamets

JEE TS Tohis Q@Jﬁdg@é RotioBow) S0 T BBDGHE?

bal YT

) F&d a) Tydato

i) Doodddyd b) ArSdRR

iif) €920 Dot ¢) B8Jodr

V) & Rodirio d) Dagmre FEeEsw soans

Options :
1. % (i—d),(ii—c),(ili—a) &(iv—Db)

> % (i—¢),(ii—d),(ili—b) &(iv—a)
3¢ (i—c), (ii—d),(iii—a) &(iv—>b)

4. % (i—b),(ii—d),(ili—a) &(iv—c)

Question Number : 55 Question Id : 8135613095 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



Match the following?

AP EAPCET 2021

ListI

List II

1) Mode of infection of
Wuchereria

Sweat glands degenerate and skin becomes rough

1) Lymphadenitis

Inflammation m lymph gland

1) Lymphoedema

Tnoculation

iv) Lymphangitis

Inflammation in lymph vessel

v) Elephantiasis

Immense swelling of lymph glands and vessels

408 TR 2GR

By

D31l

1) &S00 Dogabow IR0

B@fiooen 26300 t56)0 ADDIT AP

i) DoFEothd b) 06 dodowss’ €85 9y

ifl) odFAlsr Q) b

iv) DodoB8R d) Fa00 Tvod’ 898 7Y

V) dDDotiasrnn &) TR0 oche HBOLY TVL ST T

Options :
1% (i—¢c), (ii—d),(ili—e), (iv—Db),(v—a)

, w(i—¢),(ii—b),(iii—e),(iv—d),(v—a)
3« (i—c¢),(ii—d) (iii—b),(iv—e) (v—a)

4 % (i—e),(ii—b),(iii—a),(iv—d),(v—e)

Question Number : 56 Question Id : 8135613096 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following pairs of deseases is viral as well as transnutted by mosquitoes?
$08 OS" DD POD Hud $9A Trjcven Hdak Bde T T Boddy?

Options :
Yellow fever and Dengue

- DRVY 2 0o S08ain ﬁoﬁ:ﬁ

Yellow fever and Sleeping sickness
DY) 2(Fo Sodaiw w@b@mg&

Elephantiasis and Dengue
DO Dedairnd Hdaiv Gofioy

Elephantiasis and Sleeping sickness
AAVDTED HB0IN BAJGT (D

Question Number : 57 Question Id : 8135613097 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are correct related to typhoid?

1) Typhoid can be confirmed by widal test

1) Typhoid 15 caused by gram positive bactetia

ii1) Typhoid bacteria mainly live in the small intestine of man

iv) Typhotd is infected by inoculation

v) Typhoid symptoms are sustained fever. headache. loss of appetite and mtestinal perforation
D 0ES DotsoBod) 939 DELRORD (DBotsod?

) Brankd e H84 6o Dg"&@“d)

1) [ 2605 ergBosr 99 Broné S10ed

i) S8y %) D6’ Derdorr BFand erddate A530ed

1v) Garond ATLAGUD TT Vogahied

V) Brank vgme 00T o 2100, D). 0389 F¢T 3o 0Bakd DL Bofren Hekio

Options :
All are correct

- ©l) DELDW VT

Except (ii ). all are correct

), Ui sy, DADDD )y 2BHD.

Except ( iv ). all are correct

L w (iv) 82y, DABID ) D).

(1), (1) and (v) are correct

4 o (1), (i) So8ok (v) Sr8d0 539D

Question Number : 58 Question Id : 8135613098 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Water conservation adaptation found in cockroach are

5 Qoses” HED HobLod vMETOT L D7

Options:
Waxy epicuticle. rectal papillae & open blood vascular system
D0D0S SDVWED DR, DBV ROE7 0SIT70 & DByS 65 DO S{H

Holopneustic tracheal system. waxy epicuticle and open type of blood vascular system
FEIr(DS ToLOTY 9D, Wdod DyED BErY & DD 08 B0 S{HD

Opening of Malpighian tubules mnto alimentary canal. waxy epicuticle and rectal papillae
SrD\BaD TP 8IS T Yol BchE ddko, 2008 Erdd dErdD By

BTY 0T 0Lioen
3.&:—@"4 éﬂ

Rectal papillae. hasmocoel and tracheal system
2DONT Q0T oo, SFArME SBo% Train TV SIET

Question Number : 59 Question Id : 8135613099 Display Question Number : Yes Is Question
Mandatory : No

Ventilation movements in cockroach are performed
eﬁ“gas Do) F(RDVTD DN DA o Ear o’

Options :

During activity

1 LS &R 3D

At rest

- QDO Egae.ﬁ‘ &) 2D
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When threatened

- eSDGS” &)Y

All the tunes
oy Hvoirees AT

Question Number : 60 Question Id : 8135613100 Display Question Number : Yes Is Question
Mandatory : No

Water soluble inorgamic nufrients get precipitated as unavailable salts m the soil due to
D piad o H0° <o 80\ Fag AT S0e5°8 @08 TAC R 95 e
D6 GErow?

Options :
Leaching
1« DE¥do

Mineralization
DIAES0e

Catabolism

DG

Humufication

4w a‘:wgﬂ::ﬁ?&ﬁ

Question Number : 61 Question Id : 8135613101 Display Question Number : Yes Is Question
Mandatory : No
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The principle of competitive exclusion was stated by

Feseco Do) DTode PAFBoDIA?

Options :
G. F. Gause
1. ¢ G. F.ma

C. Darwin

- & c::‘*ﬂs.‘é

Mac Arthur

=0S e300
3. % @

Liunaeus

L B;S‘ln‘.iﬁa

Question Number : 62 Question Id : 8135613102 Display Question Number : Yes Is Question
Mandatory : No

Carcinogen present in coal far is
ES 076 &’ ol 5046 5°6%0

Options :
4 — amno biphenyl

| % 4 03 81

2 — Naphthy] amines
2 — ;F;d}e? DD
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Nitroso dunethylene
20 z25dd

3, 4 - benzopyrene

4o 34 E0E 0B

Question Number : 63 Question Id : 8135613103 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are correct related to ozone depletion in the stratosphere?
1) Ozone found in the upper part of the atmosphere that act as an efficient shield by absorbing
UV rays from the Sun
i1) DNA and proteins of living organisms could not absorb UV rays
1) Ozone gas is continuously formed by the action of UV rays on molecular oxygen

iv) Ozone gas is more stable
v) Clatoms are related from CFC by the action of UV rays, these Cl atoms act as catalyst to

degrade. ozone molecules

SF6"\006 &' 489 §nd dotolol) 3 D8V HBoitod?

) ) Toracno p Joow' &) 489 Ardyd Mod UG B TS S6mu Fhrwed
i) Hddye DNA 8050 TS wdded irs Somrod Faosss)
i) 2832 D @RS rd S0PV 130 S L8 S oY Aodto &\ YA Gokdod
iv) L83 Tk m:‘sﬁoej a}d@éﬁ
V) eddudrd Somy 6{v S8 CFC © Aol §89 H6Arte DT e@ds’mrr

DB & S L0V D) 0 B
Options :

(i),(iii) and ( v) are correct
1 (1), (i) 208030 (v) 2D pELden

(ii), (iii) and (iv) are correct
5 % (ii), (iii) odatw (iv) R0 DSV
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(iii ), (iv) and ( v ) are correct

3 % (iii ), (iv) S0bain (v) 20D Dserden

(i) and ( v ) are correct
4 % (1) S06cd (v) RO DSLdDe

Question Number : 64 Question Id : 8135613104 Display Question Number : Yes Is Question
Mandatory : No

Phosphate pollution is brought about by
q?ﬁ“‘;a:)e.'i ST SGo

Options :

Phosphate rocks
i’r‘r’o‘}eﬁ Feoew

Sewage
. Q088 D

Sewage and agricultural fertilizers

L v 20068 A 208AK DD AL DL

Automobile exhausts
. TR agﬂmw

Question Number : 65 Question Id : 8135613105 Display Question Number : Yes Is Question
Mandatory : No
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The unpaired cartilages supporting the wall of larynx are
RODES SEF{RS BT By GG S0y

Options :

Arytenoids and Cuneiform

- QLT oNE, 5)5:}&53

Thyroid. Cricoid and Epiglottis

ForanE, S5°ond Bk EDRTS
2. ¢

Thyrod. Corniculate and Epiglottis

_ BTroné, 5°0) [T bk &DRTS

Cunetform. Cricoid and Epiglottis

5352)3“53, gsPané B0 &DRITCE
4. %

Question Number : 66 Question Id : 8135613106 Display Question Number : Yes Is Question
Mandatory : No

The process in which atmospheric air with 21 % of 0, 1$ drawn n and alveolar air rich in €0,

1s sent out 1s called

TEI0008' 21 % 8yS 0 B 6y dod ol §70dd w6, 3E0rEE
RSO &) o AT (otitio €I

Options :

Diffusion of gases
| x TOHO 2D2vade

Cellular respiration
- Se3 ?S‘r‘béom
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Pulmonary ventilation
5 v DRV 2Do8TOD

Transport of gasses

4 % TONYL T

Question Number : 67 Question Id : 8135613107 Display Question Number : Yes Is Question
Mandatory : No

Match the following related to disorders of excretory system?

List List I
1) Renal Calculi a) Unec acid and oxalates
1) Glomerulonephritis b) Hemodialysis
i1) Uremia ¢) Creatinine
1iv) Renal failure d) Diabetes insipidus
e) Inflammation

aa:g_s ;35.'5‘(8 &):}“?é}mUSJ Rokiobot) Sod TE 2BHGE?

1 011
i) B8, so8nd a) odrdS esv0 b0k BATE,
i) Faesped b) FArGOIVBR
iil) afrBaoir ¢c) Soireddd
iv) 9)8), DOvio d) Colreatd BANIE
) TA icge".é

Options:
1 (i—a) (ii—e) (iii—b)&(iv—c)
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, % (i=b) (ii—e), (iii—a)&(iv—rc)

5 % (i—a)(ii—b),(ii—e)&(iv—rc)

4 % (i—a),(ii—e),(iii—d)&(iv—rc)

Question Number : 68 Question Id : 8135613108 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Renal calculi or kidney stones are hard crystalline structures formed i the urinary tract

Reason (R): Renal calculi are formed when the concentration of uric acid and oxalates m urine

becomes less

TGR (A): Smg Srgod)’ Gyend 1y88 oy rren Ao\ELRR) D) SHED T Surghodeds
%0 Wotrd.
S'00 (R): CP0 wdvo 000 gy mEs Argod o 30 3,6 sDLD D6)dd0n

Options :
Both A and R are correct and R 1s the correct explanation of A

| % A H6ci0 R en Godir 20 20050, R 9238 A & L8000 a0

Both A and R are correct and R is not the correct explanation of A

5w A 0Bain R e Gotr 20 ©2003. R 936 A S 280000 D566 5°60

A is correct but R 15 wrong
3 v A DTG 57 R DO

A 1s wrong but R is correct
4 % A 2057 570 R 20O
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Question Number : 69 Question Id : 8135613109 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

List I List II List I1I
1) High threshold substances | a) Not at all reabsorbed p) Creatinine
it) Low threshold substances | b) Efficiently reabsorbed q) Glucose
i) Athreshold substances ¢) Reabsorbed i very little amounts | 1) Urea
Sof) TR 2SNGG
Y bl b1
) eBsudoddmTw | a) 800 i Bod p) SoirtiRd
i) eery6od STe b) HndSodorr D5 630 Bode) Q) 6r6d
3 ¢) 3Ry DBarRod’ VT o
1) 00d Gurd DT r) orBair
¥ Boda)
Options:

;% (i=b—r), (ii—c—p), (ili—a—q)

L (i—a—q), (ii—b—r), (ii—c—p)

3.v (i—-b—gq), (ii—c—r), (lli—a—p)

4. % (F—a=—p), (E—b—q), Hi—=c=—r)

Question Number : 70 Question Id : 8135613110 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Light meromyosin and Heavy meromyosin are often called regulatory proteins.

Reason (R): The above said molecules have a role in masking and unmasking the active sites on actin,

69 (A): 308 BT 6050 286 B DATHS VR 6T Jabogens THIVD DT,
S0 (R): 0r$D D 63) PARY ol warddo dabio 8k S0Bak Surk Salbeed”

TG BDHU FG SuFraw.

Options:
Both A and R are correct and R 1s the correct explanation of A

1 % A 2008ciw R 20 Todcr 20 00059, R @958 A € Hdes0nsd o0

Both A and R are correct and R is not the correet explanation of A
5 A S0 R e Gotir 20 000, R 09386 A S 28ea0d D506 57

A 15 correct but R is wrong

3 % A D0HS 572 R 2o

Both A and R are wrong

4 A 20baw R 2o Gollr RO5°Y)

Question Number : 71 Question Id : 8135613111 Display Question Number : Yes Is Question

Mandatory : No
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Match the organ in column I to common name i column 17

Column I Column II
i) Epinephrine a) Stimulates in muscle growth
i) Testosterone b) Decreases in blood pressure
i) Glucagon ¢) Breakdown of liver glycogen
1v) Atrial natriuretic factor d) Increases heart beat

208 :Jegsm 23080 WO VArETdo hlotded.?

Saw 1 Sem 11
i) 20929 a) SokT® DAMEVR &BRHEXV
i) SRS b) 6§ 2o BhokoRd
ifl) (rerd ¢) sgabed fo NS 2R M) Boub
v) oS PHosnBE 60 | d) ycaH :%odg Btw Dbkl

Options :
d) (ii—a),(iii—c), (iv—>b)

v
> % (i—c),(ii—b),(1i—a)(iv—d)

3 % (i—b),(ii—d),(ili—e¢),(iv—a)

4« (i—a),(ii—b),(iii—¢),(iv—d)

Question Number : 72 Question Id : 8135613112 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Adrenocorticotropic - Releasing Hormone (ARH) excites the anterior lobe of
pifuitary gland to produce Adrenocorticotropic Hormone (ACTH)
Reason (R): ACTH stimulates the adrenal cortex to secrete its glucocorticoid and

mineralocorticoid hormones

Déyoto (4): &S 588’ 65 0ezoh 520 (ARH) dosariyod LPoiLodsdd ada
200 JES 08 08 S (ACTH) 6,38° Sy

6o (R): ACTH Qg6 Sy wo & &daddu) (4r§ s8s"awéiy Sobokn DAES’

P anéy Fdod’ &y

Options :
Both A and R are true but the R is not a correct explanation of the A

| @ A 308050 R 20 Sodir OGN 57 R 938 A D8 DBGDD DS6ee 570

A 15 rrue but R 1s false
A 280038, 529 R 28D 5°¢H

Both A and R are false

L, A 20050 R 00 Gokr ROHID T

A 1s false but R is true
A HBIHIS 5760, 5° R DBGHHE

Question Number : 73 Question Id : 8135613113 Display Question Number : Yes Is Question
Mandatory : No

What 1s the correct sequence of sperm formation?
B0SEE IO DD §37°D) HBoted?

Options :

1. %
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Spermatogonia, Spermatozoa. Spermatocytes, Spermatids
SIS, ST, FOSSTTLD, ?a:jdé_e’i”;ge‘ig, ESa N SV

Spermatogonia. Spermatocytes. Spermatids. Spermatozoa
BOSAT S SETLD, D655, FoE T BT, BOESITeD
2. =

Spermatids. Spermatocytes. Spermatogonia. Spermatozoa
08 TGP0, D6} EDEy, BOEITB ST, FOESETL
3. % o

Spermatogonia. Spermatocytes. Spermatozoa. Spermatids
. x BOSAT S SETD, :::jdéeﬁﬁj__ejﬁ. HogseTen, HO8 or G5

Question Number : 74 Question Id : 8135613114 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Generally. a woman does not conceive during the lactation period

Reason (R): The hormone “Prolactn’ inifiates and maintains lactation in a delivered woman

TGS (A): Foedeor 39 2eds 5“@):’93;691 5008 Sder (160 &0y BISTL Golts).
5600 (R): D030 900 évﬁ‘ Jerd 03 ;‘3561.5 T 638 FPedotstrI8, IR
& yioduod.

Options :

Both A and R are correct and R 1s the correct explanation of A
1 % A 208050 R a0 Soctr 28 9003, R 6938 A § 2Beansd DS60

Both A and R are correct and R 1s not the comrect explanation of A

5 A 2080k R e Godr 20 20050, R 0938 A & 2809000 25080 5°¢)

A 15 correct but R is wrong

3 % A 2638 570 R 295
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A 15 wrong but R 1s correct

4 % A D057 570 R 2006

Question Number : 75 Question Id : 8135613115 Display Question Number : Yes Is Question
Mandatory : No

Refer the given flowchart. Identify W, X, Y, Z and select the correct option
408 cirondad I o§ 5638ed, W,X,Y, Z 0 28 Ardodd HArerard) 8otsod

v

Contraceptive method yes 1 5%35&5'15 Ral O
o ST ; W | ¥ W
involves physical bariers | 588 vt pdvabo

no Eiay
v '
Contraceptive method o ﬁ%:}gﬁg QA gu} 05
involves oral pills to be » X : end@rhon S8 Arden ¥ X
taken by female Si0i0
1o =LTAY]
Y r
Contraceptive method ) — ridy B8 DA o
involves subcutaneous » Y | ;,asémg Nondd » Y
hormonal implants dﬁ@'béu Sabo
no 5D
T, Y
oz -z
Options:
W — Depo Provera. X — Delfin. Y — Cervical cap. Z - MalaD

- W-oedJarr, X-adod Y- (OmN 30 J0PES Qrd, Z - e D

W — Femidom. X — Saheli. Y — Nomplant.  Z — Multiload 375

, o W PDED. X-203d Yoot Z- 205°E 375
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W — Mala N. X — Diaphragm. Y — Saheli. Z-CuT
3 % W—arer N X — dodrde. Y —Rird. Z—->CuT

W — Lippe’s loop. X — Condom. Y —IPill Z — Sponge

W- 92:::].5:: urd., X - Sdxben, Y 106, Z-» 3‘305

4. %

Question Number : 76 Question Id : 8135613116 Display Question Number : Yes Is Question
Mandatory : No

Which pair 1s incorrect?
Sod TS° HTD 2 AT

Options :

Antler 1n deer — sex linutad
| @ 55.3333956 E mjém — Doft HBLS wE0

Colour-blindness — X - linked recessive
ég“ad@gu — X - "b:FUﬁl Elue‘_ﬁgﬁ L5 R0

Baldness — X - linked dominance

adw — X - dIrorfy el Oh &80
3.% ® a

Haemophilia — X - linked recessive
Farndosr — X - DIret) osds wgo

Question Number : 77 Question Id : 8135613117 Display Question Number : Yes Is Question
Mandatory : No
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In mice black coat color (allele ‘B") 1s dominant to brown coat color (allele *b"). The offspring of
a cross between a black mouse (BB) and a brown mouse (bb) were allowed fo interbreed. What

percentage of the progeny would have black coats?

D050 Hoth) MLV Gorb Biro (o) D50 B’ Lrgd a0 20Bak LirG.ed Gofh
o (othorf) Jsvyo ‘b’) 0800 VERo BONT. S HL) (BB) VPSR 28 erdc Borh
(bb) E.]Qwéé“ 050630 20200 T VoTeD” Dot Tdo Mey) dord WEusen eotron?

Options:
1. % 100%

2 « 75%
3 % 50%

Question Number : 78 Question Id : 8135613118 Display Question Number : Yes Is Question
Mandatory : No
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Study the following statements and identify the correct combnations. The correct statements are
1) Multiple alleles can occupy different loci on the same chromosome

11) Two alleles of gene can form three genotypes m a diploid organisi

it1) When more than two alleles exist in a population of a specfic organism 15 called multiple allelism
. . , ‘ o . n(ntl)
1v) The number of phenotypes that can occur for multiple alleles 1s gtven by the expression =5

v) A well-known example of multiple allelism is *ABO" blood groups
Sofh eI 90 N0 DNV doss Badod.
{) o8 §arg's e 43) 36 e 36 WY oty DSE Gotra.
ii) dqa ?g@g Epd’ w8 B0 108, Bot afff) SEP L0 Rt 2 6rarod) JoyGFav.

iil) 27erd’ 48 32‘3 Aa5’ Boch) Sot) Jey 0300y DSEPR0 Giot) R Y 0L, ASNG Botre

iv) 8R0% ofrf, ey 39 A6\G iy drarodd

+1
”("2 ) e e Bkl 3y

T) LRV ok, Deerype e Feiadfo Jodd rire *ABO" 65 Soren.

Options:
All are correct

- ) DSLDLD DJD.

Except (i) and ( iv ) all are correct
, o (1) 20830 (iv) &y, DADID ) ¥BH.

Except (ii ) and (iii ) all are correct
Ly (i) 2080500 (iii ) 32y, DoADBD ) 2.

Only ( iii ) and (v) are correct

4% SSwo (il ) 0daiw (v) Srrddn PoRHD.

Question Number : 79 Question Id : 8135613119 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following 1s not a benefit of fransgenic animals?
Sofd TE3e5” 2] DBV 2oBLPY HVID &HAT o TIG?

Options :
To produce useful biological products
2D Voo VLTV GBS &DHAT (o

Testing the safety of vaccines
T4 D0 s, E)“;hngéu For SGS0 DO ot

Early detection of diseases

3 ¢ S00C0MOE” TR MBS

Investigation of new treatments for diseases

, TE000 Dowotded) §¢ DES 0 DBT Gotioersd
4.

Question Number : 80 Question Id : 8135613120 Display Question Number : Yes Is Question
Mandatory : No

Gene therapy has been successful in curing genetic diseases i laboratory animals through

HArATY Bodowd’ 2T (B0 D DED 2| D58, 0 DaaSedor™ HoDodTe?

Options :

Use of therapeutic medicines to rectify the defective gene

; SoodeR) aHairfon) 2385 &5 Do) HEGSate
1.

Oral delivery of genes

. SOI(TT 280V HDIDLLO
2. =

3.¢
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Replacing the defective gene with a functional gene
Sairdire 20 Sairdoddd 2DSE WSl

Exposure fo X-ray to rectify the defective gene

4 % Saird.rd amﬁmm X — 0 Strroid 6DHairfed) Sairdodo ol

Physics
Section Id : 81356169
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 8135613121 Display Question Number : Yes Is Question
Mandatory : No

A force *F’ is given as F = Pt + Qt. where ‘t” denotes time. Then. the unit of *P” st be

same as that of

‘t'5erdS. F = Pt 4 Qt 2208000 F e0d QErR) AP, P g, AT Sobd
B HATEFDE HATHAW?

Options :

Displacement

. D50
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Velocity
FelaPuby

Acceleration
- égdea;ﬁp

Momentum

\ SSDridw

Question Number : 82 Question Id : 8135613122 Display Question Number : Yes Is Question
Mandatory : No
Whet a particle moves with variable velocity. which of the following statement are NOT correct?
(1)  Average speed = average velocity
(1)  Instantaneous speed = instantaneous velocity
(1)  Distance coverad = magnitude of displacement
w8 S0 ArB Dridwd SEORIBID) YW, & 508 TG’ VTN TG 2B?
(i) 0B Hc= DT Dkaw
() SE0 6 = d8n i
()  DOSrEotdd drddw: g‘é@oé D00
Options :

| % (1), (i1) & (111)

(1) & (11) only

, w (1) & (i) Srgd

(ii) & (iii) only
o (i) & (iif) SrgB>
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(1) & (i11) only

4 (1) & (111) Sordd0

Question Number : 83 Question Id : 8135613123 Display Question Number : Yes Is Question
Mandatory : No

Two projectiles A and B are thrown from the same point with velocities v and (0.5)v

respectively. If B was thrown at an angle 45° with the horizontal. find the angle with which A

was projected. if 1t 1s known that both A and B have equal ranges?

A 308050 B 93 D805 28 Dot el SR v basw (0.5)r o Srod
DROREmO. A 208050 B © G0g) THH ddrdo. B $82:a08 45° Enod o
Soedd A awg), Two Jod?

Options :

Question Number : 84 Question Id : 8135613124 Display Question Number : Yes Is Question
Mandatory : No
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Three forces of magnitude 6 N. 6N and y72 N act at a viZN

corner of a cube along three edges of a cube. as shown g b

the figure. The resultant of the three forces 1s

6 N. 6N 208050 V72 N D855t (o AP weren

6N
WS 2R cﬁnsb ST :)cg 2T 2DV DokiC Fommrmm
DRH0g" drHd DI ow. 8 DS wodw

6N /A B

Options :
12 N along OB
1 % OB Sotyéh 12N

18 N along 0A
0A Dot 18 N

18 N along OC
0C Dotict 18 N

12 N along OF

4 OF Dotdc. 12 N

Question Number : 85 Question Id : 8135613125 Display Question Number : Yes Is Question
Mandatory : No

Two equal forces are acting at a point. making an angle of 60° with each other. If their

resultant force is equal to 40y3 N. the magnitude of each force is

Ooc R weren w8 Dot 3¢ 60° Erassnes’ D Sofurr) . T8 aws), 28
200 60° and, 18), Hvo NG, BAFH0 Jod?

Options :
1. % 20N
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, v 40N

3 % 203N

4 x 40V3N

Question Number : 86 Question Id : 8135613126 Display Question Number : Yes Is Question
Mandatory : No

The angular velocity of a ceiling fan reduces to 50 % after 36 rotations since if 15 switched off.

Assuming umiform retardation, the number of rotations 1t further makes before coming to rest is

5o ;}’55 D 69 B0\ doet) 36 Favmren ShTd 50 % Sedad S84 8fob. DSB8 w6
Sma SER) wand, (D gy 5’8@% S5ty %88 ) BEY Fdomren BRood?

Options :
1.v 12
2. % 18

3. % 48

4. % 36

Question Number : 87 Question Id : 8135613127 Display Question Number : Yes Is Question
Mandatory : No
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The momentum of a particle is numerically equal fo its kinetic energy, What will be the velocity

of the particle?
Sea:0 GRS, BOIMA0 AG3S R0ar(E) SV ATV, S8 C0S), ridw Jod?

Options :

1 % lm.s™t

> 2m.s}

3 % 3m.s*

4 % dm.s7!

Question Number : 88 Question Id : 8135613128 Display Question Number : Yes Is Question
Mandatory : No

A lawn roller has been pushed through a distance of 80 m by applying a force of 50 kg.wt in

a direction inclined at 60° with the ground. Calculate the work done on the roller.

£0a208 60°Enand” a8 wd Bod p 50 kg.wt erdy DOIrAoiit) Sud & Ho
80 m Grdan Sohaddd. wond oD 36A0 D

Options :

1. % 30X 1037
> % 40X 1037
3 % 10x 10% 7T

4 v 20%10°7
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Question Number : 89 Question Id : 8135613129 Display Question Number : Yes Is Question
Mandatory : No

A wheel of mass 10 kg and radius of gyration 50 em is rotating at 300 rpm. The rotational

kinetic energy of the wheel 1s

10 kg Q:)TSU"% S08adn 50 om Faom Fﬁﬁ“g;ﬁn f0) w8 HEAW 300 rpm & FPoeren
DS &, BEn alg), Foe (33 dodd?

Options:
1. % 62517

5 % 100017
3« 12507

4 % 15007

Question Number : 90 Question Id : 8135613130 Display Question Number : Yes Is Question
Mandatory : No

A wheel of mass 10 kg has moment of inertia equal to 0.1 kg.m?. Then ifs radius of gyration equals

10 kg So(Te3 o 28 g g acey epansan 0.1 kg, m?, oo Feoe a“’gﬁ“gma

Options :
1. i 10 T

5 % 100 m

3 % 0.01m

AP EAPCET 2021



AP EAPCET 2021

Question Number : 91 Question Id : 8135613131 Display Question Number : Yes Is Question
Mandatory : No

Four spheres each of radins 0.05 m and mass 1 kg are placed one at each corner of a square of
side 0.2 m. such that their centres comeide with the corners of the square. Find the moment of
mertia of the system about one side of the square.

287,68 0.05m q&gm, Lkg @503 0A% Treor Aveen 0.2 m bz 809
G060 OS] TPV %g“v S Gotit)da). 0D AN aIS) DET FoaAn
2020 &3 555.‘:78 QRS BEAN EPS0

Options :
1 @ 84X 1072 kg.m?

5 % 16 X 1072 kg.m?
3 % 10 kg.m?

4 % 5.5 X 1072 kg.m?

Question Number : 92 Question Id : 8135613132 Display Question Number : Yes Is Question
Mandatory : No

A simple pendulum performmg harmonic motion has an amplitude A and period T. The speed

of the bob at x = ? 5

A 003 98208 08010 T 836 0w $DA 8305 Busine’ &) 18 vandvgan

A
CﬁDSEJ ShE= ? ;ﬁg Jodh?

AP EAPCET 2021



AP EAPCET 2021

Options:

mﬂiﬁ

v T

3mlA

2% T

mﬂl\.@

Question Number : 93 Question Id : 8135613133 Display Question Number : Yes Is Question
Mandatory : No

A simple pendulum 1s oscillating without damping. When the displacement of the bob is less

than maximum. its acceleration vector @ , is correctly shown in which of the following figure?

28 UG LS BAMEIN I EvTe S8 8. S'us Hvaw g;aggoé.m; (16336500
S0t 3809 GR) ) g S0t B3 RO TRt HEE

Options :
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3.v

Question Number : 94 Question Id : 8135613134 Display Question Number : Yes Is Question
Mandatory : No

A body weighs 900 gm. wt on the surface of the earth. Its weight on the surface of a planst

whose mass 1s (1/8)"" of that of the earth and radius is half that of the earth. is

1
AP G830 A 28 S LAY 900 gm. wt. Z5 BT’ = 3 30 308010
a“gﬁgam‘i‘ o &) e GHBSVH D6 T WA

Options :

1 = 400 gm.wt

) 450 gm.wt
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3« 200 gm.wt

4 % 20 gm.wt

Question Number : 95 Question Id : 8135613135 Display Question Number : Yes Is Question
Mandatory : No

The Earth (of mass 6 X 10* kg) revolves round the sun with an angular velocity of

2 %1077 rad.s ™" in a circular orbit of radius 1.5 X 10™* fom. The force exerted by the sun on

the earth 15

3 (65003 6 X 10% kg) RraxQ cotar 1.5 x 101 km ;1"55“3;11:6" 3T 85[0
2% 107 rad.s™* Eedan Snawd gooeren S 6. RrdA 36 Zrdp
Plohbifaln ATl AT SE S

Options :
| & 27X 10¥ N

, % 18X 105 N

21
;v 36 X102 N

4 % 15 X 102 N

Question Number : 96 Question Id : 8135613136 Display Question Number : Yes Is Question
Mandatory : No
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The speed of sound in an elastic string when it is extended by x m is v. If it 15 further extended

to 3x m. the speed of the sound becomes

S ?g@g“bs 816 e x h)“. TG A’ C,Ssﬁl 64w 1. Fhodo 3x oy &
2eRRL0NB, BYYE B D30 dod?

Options :
1. % 1.22 v

, » 1730
5 % 144v

4 % 1730

Question Number : 97 Question Id : 8135613137 Display Question Number : Yes Is Question

Mandatory : No

A flat plate of area 10 cm? is separated form a large plate by a layer of Glycerine 1 mm thick.

If the coethicient of viscosity of Glycerine 1s 20 poise, the force requured to keep the plate

moving with a velocity of 1 cm.s7 1 is

10 em? DTV (0 28 BB DS 1 mm 2ot (v A20S JTO B 26 Hug Dol D
Sobacdd. Az aog) 3’&9‘3 Aoeasan 20 Frowsd, Hod 1om.s~! Sand
5000500 5990 awAw

Options :
1 = 80dyne

> % 200 dyne

3 % 800dyne

AP EAPCET 2021



AP EAPCET 2021

4. 2000 dyne

Question Number : 98 Question Id : 8135613138 Display Question Number : Yes Is Question
Mandatory : No

A block of wood floats in water with (4/5)™ of its volume submerged. If the same block just

floats in a liquid. then find the density of this liquid. (Given density of water= 1000 kg.m™>)

25 B8, B2 1000 kg.m ™ o RS DO’ 6ol T WRBBAFBSS

(4/5) S0 AnIDRB. 6 B8 B0} 18 GSAVE’ GoddiP\@, 08 & G330’
306, ©aNd &GI8 aWE), Fodd Jod?

Options :
1 % 1250 kg.m™

, x 600 kg.m™
3 % 400 kg.m™3

4 v 800 kg.m™

Question Number : 99 Question Id : 8135613139 Display Question Number : Yes Is Question
Mandatory : No

A black body at a temperature 227 °C radiates heat at the rate of 5 cal.em 2.5~ At a temperature
of 727 °C. the rate of heat radiated per unit area 1s approximately cal.em™2.s7}
227°C 98 ws 8@ HY 2S00 B &2 6w 5 cal. em 4571 727°C 96 HArn FTVED
Aol 28 DERY’ DGR Dol ELA TTYT

Options:
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2.« 80
3 % 250

4 % 800

Question Number : 100 Question Id : 8135613140 Display Question Number : Yes Is Question
Mandatory : No

It R be the universal gas constant then. the amount of heat required to raise the temperature of 2

moles of monoatomic gas under 1sobaric condition from 0 °C to 100 °C will be:

R 0036 F6(ds ook fgcvosan DS, DA HED :Jﬁfgmvé* 0°C &vec 100 °C 6% 2
ATS © D8 HOATEVS T eggam DoutrS dod G20 BB3VA?

Options :
1. % 150 R

, % 250R
5 % 300R

4 v S00R

Question Number : 101 Question Id : 8135613141 Display Question Number : Yes Is Question
Mandatory : No
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Figure below shows a cyclic process abeda. If AQ be
the heat supplied to the system. AU be the change in
internal energy and AW be the work done by the

system, then which of the following relation is correct?

408 D03 abeda B80H HEH APV, AQ
ORAE D% 6 ROTRD, Al ORIE Bosdd
336" Aoy, AW OB 3[:5% B 505 DD
ArdedHond S A8’ D Mowoetiin HBIA?

Options :
1 AQ — AW =0

L« AQ— AU =0

L« AQ+AW =0

4 % AQ+ AU =0

Question Number : 102 Question Id : 8135613142 Display Question Number : Yes Is Question
Mandatory : No

What amount of heat is to be supplied to 4 X 1072 kg of Nifrogen at room temperature. fo rise
its temperature by 50 °C, at a constant pressure? (R = 8.3 L. mol™*. K~ and molecular weight
of nitrogen is 28)

6 &8 56 &8) 4x 107 kg 2add0 2 60 36 50 °C £ edd, P60
BBV e (R =83 Lmol™L. K1 Sbcsw Ri’aS e arodw 28)

Options:
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, % 3 KkI

3 % 4 kI

4.335.;(..]-

Question Number : 103 Question Id : 8135613143 Display Question Number : Yes Is Question
Mandatory : No

Match the following: (where R 15 gas constant)

Column-I Column-II
(a) Molar specific heat of helium gas at constant volume (1) 3R
(b) Molar specific heat of oxygen at constant volume (1) 35R
(¢) Molar specific heat of carbon dioxide at constant volume () 15R
(d) Molar specific heat ot hydrogen at constant pressure (iv) 25R
S08 TR BdHGC”
20 -1 2R -1I
PN B 5
(a) N6 RVOATRI G >dado Toi) Arwd DI () 3R
(b) 26 BBATEAD 3¢ 815D Tain) Jres RTadw (i) 35R
(€) 26 2IBSrnD 56 TS & 5% areb DITHan (iti) L5 R
() 26 0IrHIN 56 FEES Ared RTadw (iv) 25 R
Options :

1« (a—1i),(b—ii),(e—iii),(d —iv)

, x (a—ii),(b—iii),(c—iv),(d—1i)
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5 » (a—iii),(b—iv),(e—i),(d—ii)

4 x (a—iv),(b—i),(c—ii), (d —iii)

Question Number : 104 Question Id : 8135613144 Display Question Number : Yes Is Question
Mandatory : No

The propagation constant or angular wave number i
DIS Dorossw S Sdah SGor Doy BAS DATrDo?

Options :
A

153271'

A
2. % T

Question Number : 105 Question Id : 8135613145 Display Question Number : Yes Is Question
Mandatory : No
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A thin prism of angle 6° made up of glass of refractive index 1.5 1s combined with another
prisim made up of glass of refractive index 1.75 to produce dispersion without deviation. Then

find the angle of the second prism.

15 382393 Mnsan $Das med doird dobeda 6° b Endw 5% Do)
DBSaN, 1.75 98258 hnsdw s8R0 med dairdBabuds LBaS HHSawS
SRDNEL HVD HSod) DSV Torr IFHeA SHANAG. WS ol LS
qing), 208 St dod?

Options:
1.2 7°

2. % 9°
3w ¥

4, % 5°

Question Number : 106 Question Id : 8135613146 Display Question Number : Yes Is Question
Mandatory : No

In a Young's double slit experiment. the angular width of a fringe 1s 0.2° on a screen placed
Im away. The wavelength of light used is 600 nim. The angular width of the fringe if the

entire-set up 15 immersed is a liqud of refractive index 1.33 1.

atof) 2ot DS HAIFAeS” Im Erdorr odd B0ae &8 18 Sl ddex 0.2° eurr
8008 SERR6. EOArAOD Sod B6oricin 600 nm. Ao HAIF BB 18
308" AodIOB H Eeios Déewy Jod? (G 58333 Adngan 1.33)

Options :
1.« 0_15"
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4 % 0.3°

Question Number : 107 Question Id : 8135613147 Display Question Number : Yes Is Question
Mandatory : No

; tq ; i, : .
Two point charges Fi and —q are placed at a point (e, 0,0) and at origin respectively. The point

along the x — axis where the electric field vanishes 1s

+
Boctd Dotk DT Tq 208030 —q ©0 Do) (g,0,0) 208050 Hreociaig) 3¢ SR
GotSaEmaw. ¥ — &5 Dot DAGIBIW )¢ O H2YBE & Dot PR §8) 087

Options :
.« x=v2a
VZa
x=
20 V271

Py

X
4. %

Question Number : 108 Question Id : 8135613148 Display Question Number : Yes Is Question
Mandatory : No
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Four metallic plates each of area A and separated from
one another by a distance d are arranged as shown in

the figure. What is the capacitance between X and Y? d
-= a D
28) 6,8 A progw s9i% Teub &Rl dewsw X y Y

2ETrREE d ardand wmdamd.ab. eand X
b Y e SﬁJdJ?S §5“faé§5b 2odh?

Options :
C— Egd
1. % d
4e
€ = of!
2. % =
- 2e,4
3. ¢ #
. 3,4
4. % d

Question Number : 109 Question Id : 8135613149 Display Question Number : Yes Is Question
Mandatory : No

The current flowing through a wire depends on time as | = 3t* + 2t + 5. The charge flowing

through the cross section of the wire in time from t =0 to t = 2515

25 8 Tr(oe B5irol DS TwANR BErEE posenAN [ = 3t° + 2t + 5. &6
0033 BT £= 0 o £ = 25 30 PO DedTrSew

Options :
1.« 22C
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, % 20C
5 % 18C

4% 5C

Question Number : 110 Question Id : 8135613150 Display Question Number : Yes Is Question
Mandatory : No

The unit of current element 1s
2}@5& DITTBTOEID WNE); DATEIDN

Options :
1.« Am

Question Number : 111 Question Id : 8135613151 Display Question Number : Yes Is Question

Mandatory : No
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A disc of radius R rotates with a constant angular velocity w about its own axis. Surface charge
density of this disc varies as @ = ar? where 'r’ is the distance from center of the disc. The
magnetic field intensity at the center of the disc 1s

R g 596 8 29y oD egdn Hoawm o Srdoth Srand’ SrixiD) 6. &
DYy A, G0 8D Fodd a = ar? QGG 1 BB DVyo St Aot Arsaw.
©aWS D)o Sodaw Sl wo‘bi‘)“baej e

Options :

| % poawR?

HoawR?

2. 6

HoawR?

3, % 8

HoawR?

Question Number : 112 Question Id : 8135613152 Display Question Number : Yes Is Question

Mandatory : No
A solenoid having 2000 turns per meter has a core of area 4 em? and relative permeability

220, Tt carries a current of 5 A, The which statement among the following 1s true?

w8 Brrand e 2000 goew, 4 cm” PPy Hbain FDE Hd¥5Ius 220 $dh
&) 8. @ ot 5 4 NS DSrol) & S0l TS 20 T{S{00R0 dBotiou?

Options :
Magnetic intensify is 10* A.m ™%, Magnetic field is 887 x 1072 T and Pole strength is 876 A.m
- eﬂoiﬁ"gjoé 830 10° Am™, e:::o‘.iﬁ“gjuej £330 88 x 1072 T, G908 876 A.m

AP EAPCET 2021



AP EAPCET 2021

Magnetic intensity is 10* 4.m™". Magnetic field is 88m X 10 T and Pole strength is 200 A.m
008 898 10° A m™, 0ohir) od £ B8 X 107 T, dddedn 200 A.m

Magnetic intensity is 10* A.m™", Magnetisation of core is 219 X 10° A.m™* and Pole strength is 300 A.m
eab¥) o8 836 10 A.m™!, 6 wondmedeom 219 x 10° A.m™, 63w 300 A.m

Magnetic intensity is 10® A.m ™%, Magnetic field is 44m X 1072 T and Magnetisation of core is
219%10°Am™

a0t 838 10° A.m™, w08 Edaw 4m X 107 T, §6 wabd)odsn 219x 10°Am™

Question Number : 113 Question Id : 8135613153 Display Question Number : Yes Is Question
Mandatory : No

The coupling coefficient of the perfectly coupled coil 1s:
25 ;ba‘i”.ajﬂg Do arf T8 CINS), NoT*A MEISAL

Options:
Zero

| % E\P.%?Smj

One

Slightly more than one
258 S5T°) S0t S8 S
%

Infinite
4 % ©ROID
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Question Number : 114 Question Id : 8135613154 Display Question Number : Yes Is Question
Mandatory : No

Current in a coil with self-inductance 2 H is increasing according to [ = (2sint?) ampere.

Amount of energy spent during the period when current changes from 0 fo 24 is

[ = (2sint?) eroDdob 5762w 2 H 080 D0ed Sricioiyes® DeiojS o DAHEA0A.
e D0 0 Bdodt 24 368 S8 2300%008" Jod ot 38 0y HB00H?

Options :
1.v 4]

2.% 61

4 % 127

Question Number : 115 Question Id : 8135613155 Display Question Number : Yes Is Question

Mandatory : No
Alternating Current cannot be used for which of the following?
A.C. J TESTEID

Options :

Heating
| % D6 DAL

Lighting
. Tt 2DehHos
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Electrolysis

- ﬁm5e5 DFDE0”

Generate mechanical energy

4 % airods 35 2DoDWOIWLILY

Question Number : 116 Question Id : 8135613156 Display Question Number : Yes Is Question
Mandatory : No

The magnetic component of a polarized wave of light 1s

B, = (4.0 x 107° T sin[(1.57 x 10"m )y + wt]) . The intensity of light is

GO S0 SCoran aws), ﬁﬂi}%‘&oeﬁ 20RA0
B, = (4.0 X 107 T sin[(1.57 X 107m™ L)y + wt]). 5°0d &3

Options :
1 v L9kWm™*

5 % 38 kWm2

3 % 5.7 kWm™

4 % 76 kWm™

Question Number : 117 Question Id : 8135613157 Display Question Number : Yes Is Question
Mandatory : No
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The work fanction of a metal is 1.5 eV, Light of wavelength 2500 A is incident on this metal.
Maximum velocity of photoelectrons is

w8 O 9 Hoohaw 1.5 eV, 2500 A eﬁﬁoﬁg‘%m (0 5708 &0
DBI20YPB0R. T VS (188 A0 od?

Options :

o 122x10%ms™

, % L51x10°m.s™

5 v 1104 X 10°m.s

4 % 285x10%m.s™

Question Number : 118 Question Id : 8135613158 Display Question Number : Yes Is Question
Mandatory : No

An electron 1s confined by electrical forces to move between ngid walls separated by 1 nm,
The quantized energy value for the lowest energy state is . Given mass of electron =

9.1 x 107 kg and Planck’s constant = 6.625 X 10™* s

1 nm Gréan B8 SAHGHRES Totd Adw mﬁé M’:S@ 2P0 BHE DIBA) BODLIGA
48 JUTD 6 6. Band vdw) 3 g"cmé 5°5oe'55cieaan DaDecd 38 ed (o8
No"08:300=6.25 X 107 s, dogd g(or3=9.1 x 10~ kg)

Options :
| w 12x107%0 7

5 6X107%° 7
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;% 6X10718 ]

4% 617

Question Number : 119 Question Id : 8135613159 Display Question Number : Yes Is Question
Mandatory : No

o +20V
In the following circuit. the value of § is 200 and I is 2.5 mA.
Identify the correct statement; 0 S 25k
& 808 SLoHs" B Devsd 200 Bk I, Devd 2.5 mA C
o003, £ Sod T7AE" 20 Land TE0A? >
E
Options :

Voltage across base-collector junction (V) 1s 11V

v S Go-25063 Dobd (V) 36 STE Dewd 11V

Voltage across base-collector junction (Vp.) is 7.5V

. &G Go-280e8 208 (Vo) 36 SG& Dewd 7.5V
2. .

Voltage across base-collector junction (Vg) 1s 185V
e Go-050e3 e (Vi) e S 52 Qend 185V

Voltage across base-collector junction (Vg-) 1s 15V
e 0o-088ed obd (V) 96 ST& Dewd 15V
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Question Number : 120 Question Id : 8135613160 Display Question Number : Yes Is Question
Mandatory : No

The principle used in the transmission of signals through an optical fibre 1s
Sy T 3o Mot VST L PICAVS” ATV ) RO DE?

Options:

Refraction
| x SSBOBAWD

Dispersion
5 % DEDID

Total internal reflection

Ao A0 DUTH0ASL

Interference

.;35935693;3;:
4, %

Chemistry

Section Id : 81356170
Section Number: 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Question Number : 121 Question Id : 8135613161 Display Question Number : Yes Is Question

Mandatory : No

How many speciral imes will be observed for a hydrogen atom. when an electron returns from

7t shell to 3™ shell?

TERD DOATIY AE) 7 S 85) ec 3 S 4% T L0 BBA DAY, ) I
DB D6y CaR?

Options :
1. % 4

> % 15

3.¢ 10

4 % 14

Question Number : 122 Question Id : 8135613162 Display Question Number : Yes Is Question
Mandatory : No

If a cricket ball of weight 0.1 kg has an uncertainty of 0.15 m. s~ in its velocity, then the

uncertainty i the position of the cricket ball 1s

0.1 kg e fo §86 tod s, Dd0e” e 0.15m. gt B\ T
F008" Gotd wﬁ]%’t}@ejsan
D Fr—

Options :

1 ¢ 35x10 3 m

5 % 35% 1077 m

3 & L7X 107 i
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4 % L7X 107** m

Question Number : 123 Question Id : 8135613163 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct statements regarding Balmer sertes: The wave number of each line m the

. - _— 1 .
spectrum of atomic hydrogen is given by the equation 7 = Ry (—2 ——5 |- where Ry 152

I n
1 pA

constant and ny and n, are integers.

(1)  Aswave length decreases, the lines in the series converge
(i) The mteger ny 1s equal to 2
(i) The tonization energy of hydrogen can be calculated from the wave number of these lines

(iv) The lme of longest wavelength corresponds to 11y = 3

1 1
TE2R DOAPROY) ANE), Sge0l” 9O G W), Sbofi Vo 7 = Ry (—2 — ) e
1 n
1 2

0e6e0 Aoy smﬁ“aa;sma. 98] 6 Ry 28 %mosan 0baio ny, n; W :;Jﬂgos"w. 900N,
era08 3638 Motioot) S0 DIWTLES’ 8 HBDRN?

() &oft o Sous¥na, 30006 Gue GG SO,

(i) n; QTS0 0 2

(i) & B0 S6oriBE® Aol H-003rmR) oabL0n 389 58 oy,

(iv) ﬁﬁ@ @doﬁ'@gﬁu 10 88 1y = 3 S WotBotddb

Options :
(i). (i) & (iii) only
1w (0. (i) & (i) Sorasdo

(i). (iii) & (iv) only
S s (). (i) & (iv) Srgd

3.¢
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(i). (ii) & (iv) only
(i). (ii) & (iv) Seddd

(ii). (iii) & (iv) only

4w (). (i) & (iv) Sorgdo

Question Number : 124 Question Id : 8135613164 Display Question Number : Yes Is Question
Mandatory : No

The correct order for the increasing 1onization enthalpies for the following 1s:
80878 oSN JoEdyw WBEDA BB §vo:

(i) 1s?2s*2p®3s?

(i) 1s°2s%2p®3s?

(iii) 1s°2s°2p°

(iv) 1s*2s%2p’

(v) 1322522;11
Options :
1% (ii) < (iii) < (i) < (v) < (iv)
, « (D) < (1) < (i) < () < (iv)

3 ¢ (i) < (1) = (v) < (iv) < (iii)

4w (D < (@) < (iv) < (v) < (i)

Question Number : 125 Question Id : 8135613165 Display Question Number : Yes Is Question
Mandatory : No
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Which among the following structures does not correctly represent the bonding capacities
(valancies) of the atoms mvolved?

S05 RS(RGR oL B8] é"d%u“ve'i“ 2)ocoeS’ 5“5.?" &) Both) DEATEYL 8osS &mgao

ST Arotiid o7t AG?
Options :
— 'liI = _t_
II_T_”
el B
Fe Fe
v
2. % Se
fo
0<— N\
3 % OH
0
Vi
H—C=— Si<
4o 0—-H

Question Number : 126 Question Id : 8135613166 Display Question Number : Yes Is Question
Mandatory : No
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Assuming 4B 1s an ionic compound and r; . 1;, are the ionic radii of AT and B~ respectively.

The lattice energy of the compound 4B is proportional to:

AB w8 ©0irds ﬁ.‘i}é%an 208k 7, . 7, e ST AT, B o a0S), BOITS
m&%‘g‘wrw 05D AB 0] 0w aog), s rws 38 =V
908" ATFBA0G" ot

Options :

[(rt=rg)

4, %N

Question Number : 127 Question Id : 8135613167 Display Question Number : Yes Is Question
Mandatory : No

T . ; .
The hybridization of the central atom in the species ICL; 1s

ICL, e9c3rS &° Sod HOJFEDY) DosbS60

Options :

1 % sp°d’

2 % SP
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3. % °P

4.¢ SP

Question Number : 128 Question Id : 8135613168 Display Question Number : Yes Is Question
Mandatory : No

Calculate the volume occupied by 2.5 g of water vapour at 250 °C and 1 bar pressure.

250 °C 200050 1 e76 Htdo 36 25 58 395 e32Dockd VDB
Options:

| % 3L

5 % 0.5L

3 % 1L

4w 6L

Question Number : 129 Question Id : 8135613169 Display Question Number : Yes Is Question
Mandatory : No
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Consider the composite system. which is held at 300K, shown m the figure. Assuming ideal
gas behavior. calculate the total pressure if the barriers separating the compartments are
removed. Assume that the volume of the barriers 1s neghgible. (R = 0.082 atm/L//Mol.K)

S0 DS Eronds 18 Dg 330 300K 56 69)8 . 8 ToYOD) B0, DG
ly 6) B 2radow), Ak D Bat wﬁaﬁﬁdvm S ORI, Ta5D20030
e ENR0R) &8) otbeC. [wgbﬁ" o RDBArEAN DBt SN BaRsRL Td)
(R = 0.082 atm/L//Mol.K)

He Ne Ae
) EEETE e dels | casresass T | TS
L5 atm 25atm 1 atm
Options :
1 % 1latm
5 ¢ 2atm

3 & 2.3atm

4 % 3.2atm

Question Number : 130 Question Id : 8135613170 Display Question Number : Yes Is Question
Mandatory : No
Concentrated HN 0O 15 63% HNO, by mass and has a densify of 1.4 g/ml. How many nulliliters

of this solution are required to prepare 250ml of a 1.2M HNO, solution?

e SGT 63% 08,8300 HNO; 8D Gotwr & Focsd 1.4 g/ml 1 6. 250ml
12M 3gs%) @amd) dosrd Soiows ) Do Bug e HNO, & eddirhomd?
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Options:
1. % 18.0

5 o 21.42

3 % 20.0

4 % 14.21

Question Number : 131 Question Id : 8135613171 Display Question Number : Yes Is Question
Mandatory : No

50 mL of 0.2 N HCI 1s titrated against 0.1 N NaOH solution. The titration is discontiued after
adding 50 mL of NaOH solution. The remaining titration is completed by adding 0.5 N KOH

solution. What 15 the volume of KOH solution requured for completing the titration?

S0mL & 02N HCl & 0.1 N NaOH & eo3ar0530 ﬁ‘rﬁ}l" 50 mL NaOH D93 sdoasd
0T, AdD ool 0.5 N KOH €92 200fomrd). dodh RDBATTAND)
KOH #o33r0850 *Qj“;lﬁnﬁmejﬁj e dan?

Options :
1.« 10mL

9 % 11 mL
3 % 12 mL

4 % 10.5mL

Question Number : 132 Question Id : 8135613172 Display Question Number : Yes Is Question
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Mandatory : No

A system undergoes a process in which AU = +300 ] while absorbing 400 | of heat energy

and undergoing an expansion against 0.5 bar, What 1s the change m volume (in L)?

w8 B30 20D H8aDS’ AU = +300. 400 & #83 Fhotosod 0.5 bar © DTS
S@Bawr (50 26530, WA0ArnaNs” arwy) dog & dos?

Options :
1.% 4

Question Number : 133 Question Id : 8135613173 Display Question Number : Yes Is Question
Mandatory : No

: a . : & % A S PN
Find the AH® for the reaction HZO@ + Bizm} —— HB) ) : HOBI{Q:] using:

Bond energy of 0 — H bond in Water = 463 kJ
Bond energy of Br — Br bond in Br; = 192 kJ
Bond energy of 0 — Br bond in HOBr = 234 k]
Bond energy of H — Br bond in HBr = 364 kI

6 D) YTV Bobd §Q) T WoFILD BAD FIEEDL). 8 IITV B
H,0_, + B, T HBr _, + HOBr _, i t6is) AH ? Dendio T otod”
B ) 908" 0 — H tioGio a0, &1ocs#8 463 kI
Bt ‘n}é}é#&&éﬁ Br — Br toto dins), eoc3s 192 kJ
HOBr "{o;ﬁJy;‘boES‘s 0 — Br eotho 0108), 20G3S 234 k]
HBr ‘&ﬁ)&%‘}nﬁﬁ H — Br toto CI0S), 2o33S 364 kI
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Options:
| » 655 kl.mol™

5 x 598 kI.mol™

3 « 97 k. mol ™t

4 % 192 kI.mol™

Question Number : 134 Question Id : 8135613174 Display Question Number : Yes Is Question
Mandatory : No

When some helium gas 1s added. af constant pressure. to an equilibrium mixfure of 2 505 @t

0 = 250, which of the following conditions will eccur?

RSN’ 63) 2505, + 055 = 2503 ) DIAFIE 0 20 36 Eodd rBoto
T ST, & S0 BB HOVAWE' D BBHG Dy

Options :

The concentration of all three gases remain mnchanged
85 Q00PC JTAINYY TPGESHD QG0N Bolied)

Concentration of Sulphur trioxide increases
U0 gagbci TES DA

Concentration of Sulphur dioxide increases

R0 GesSHE TTES DA
3.4 ®
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The number of moles of oxygen will decrease

UQJE&E 2T°e0) *r‘.::uapé S
4. % 3

Question Number : 135 Question Id : 8135613175 Display Question Number : Yes Is Question
Mandatory : No

Two solutions A and B have pH 3 and 6 respectively. Which of the following statement 1s correct?

A 28030 B raerey o), pH Srr 3 5080k 6. $od DItsdvs’ D6 2096?

Options :
Solution A 1s twice acidic than B

. A PO B Trod ST7) Eegom 85200 R(2I"000 SV

Solution B 1s twice acidic than 4

, B @raesandsy A granan s ﬂegn?;}_} 813 NP SO

Solution 4 15 1000 times more acidic than B

P A POt B mroran 37 1000 B0 Q50001 &) R(EPO00 SV
3.

Selution B 15 1000 times more acidic than 4

4% B @rdeands) 4 groran 5377 1000 6an e0S00mT 8520 RerD0 SO

Question Number : 136 Question Id : 8135613176 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following is used to remove the hardness of water?
S0 a}méva“mﬁ‘ 58 5By & DAoL EDAEFEHES 87

Options :
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.« Cas(POy),

, » NazPO,

3 v Nﬂ.ﬁpﬁuls

4 % NazHPO,

Question Number : 137 Question Id : 8135613177 Display Question Number : Yes Is Question
Mandatory : No

Which among the following property increases. as we move down group-I of the periodic table?
8303 58 13 (175 6" p dnod) o> Pt orbesw 3idy 60} & Bb 8800 6" 08

Options :
Electro negativity

- 22069 bmﬁmﬂaésa

Tonic radms

ey e :_1“53“6;5;3
2. @

Melting point
BDBHD Fdo
3. % ®

Tonization enthalpy
. 9030 D68 aar@rbh

Question Number : 138 Question Id : 8135613178 Display Question Number : Yes Is Question
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Mandatory : No
Inorganic graphite is
AT TS TP T

Options:

.« BalaH,

3. % SiC

3_
4« BO;

Question Number : 139 Question Id : 8135613179 Display Question Number : Yes Is Question
Mandatory : No

What would be the products for the following reactions respectively? (water molecules would
be the expected biproduc)

(1) Sioy+ 2NaOH =7

(i1) Sioy + 4HF =7

&1 B :565@6“ Gy T DBS a0 DI D6yCo? (M8 eHen Sre &3\ Q0T
DO\ GEr A gPowrd)

(i) Sioy+2NaOH -7
(if) Sioy + 4HF =7

Options :
1. % SiONa & SiOF

, » NaySio; & SiF,

5 » Na3Si0, & SiOF,
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4 x NaySi,0; & Si,0F,

Question Number : 140 Question Id : 8135613180 Display Question Number : Yes Is Question
Mandatory : No

The pH of acid rain water is
B0 JG00 aiws), pH S 200 G0
= el — i

Options :

Between 6 — 7
6 —7 ;‘.13{35
%

Between 5.2 — 5.8

57—
, @ 2 5.8;113&35

Between 4 — 5
4—5 a:cig
%

4 % <40

Question Number : 141 Question Id : 8135613181 Display Question Number : Yes Is Question

Mandatory : No

(1) Kjeldahl's method is used in the estimation of element?

(11) Which of the following compound can be estimated vsing this method?

(1) D0ArEe) SorT QPSR Bt DOLL eEeg'eS :ch@ (=4 Tebdglab )
(i) & Slal 56 &b “n]:i')y?a"vﬂﬁ D6 EDAIrHHER

Options :
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(i) Oxygen; (ii) CH; — OH
- (i) @dyas; (i) CH; — 0H

(i) Sulphur; (ii) H,50,
Lo R0 (i) HyS0,

(i) Nitrogen; (ii) CH; — NO,
L, ) =S (i) CH; — NO;

(i) Bromine; (ii) CH; — Br
L (i) &5°0S; (i) CH; — Br

Question Number : 142 Question Id : 8135613182 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Tertiary carbocations are more reactive than secondary and primary carbocations,

Reason (R): Hyper comjugation. as well as mductive effect due to additional alkyl groups
stabilize tertiary carbocations.

DB (4): Docd SoBos ;.3.:;}6 s"b‘éjs“eaoiréw Sot) 5800 s»&fasvemrbm 2000
wﬁm SOR Gocody.

sondn (R): ©6s 696 daurfe Hod 87 028 Hrradn Hdakn e300k 2,
5Bad sv&*asﬂmwn‘wm i‘gcs:ximm.
Options :

Both A and R are frue and R 15 a correct explanation for A
| % A H580in R Godor 2O0DAD. 08030 R 938 A § 2BCH D50

Both A and R are true but R 15 not a correct explanation for A
5 % A 508050 R Bodr 800D, 5°0 R 938 A & H0gd Dd6e 5760
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A is true. R 1s false

L i A RBGORB, 5D R 28 570

A 15 false. R 1s true
A %8 57, 570 R 28a06

Question Number : 143 Question Id : 8135613183 Display Question Number : Yes Is Question
Mandatory : No

In sodium fusion test for organic compounds. the nifrogen i it 1 converted in to

86, D) Vw2602 oo Ay de HOLY & ) Fded M BRI m
Ard.

Options :
1 % NaNH,
5  NaCN

3 % NH;

. » NH,0H

Question Number : 144 Question Id : 8135613184 Display Question Number : Yes Is Question
Mandatory : No
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The order of stability among the following alkenes is:

208 9 So 26SA0 ) SO

SePgeq s

(ii) (iii) (iv)

Options :

1 % @) > (iv) > (i) > (iii)
5 % () > (1) > (i) > (iv)
3 ¢ @ > (i) > (iv) > (i)

4 = (i) > (iv) > (i) > ()

Question Number : 145 Question Id : 8135613185 Display Question Number : Yes Is Question
Mandatory : No

In a non-stoichiometric sample of cuprous sulphide. with the composition Cuy 5. cupric 1ons are

also present in the lattice, What mole percent of Cu”" is present in the copper content of the crystal?

w8 TR Fosairas SRR ) G AP 0R0E], ROV CitygS. 0\DE 0N’
Sr(h8 airRoe SPTe &) D. AdAN T8 283rna08° (1t e 7oA Jod?

Options :
1. % 99.99%

5 » 11.11%

, % 88.88%
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Question Number : 146 Question Id : 8135613186 Display Question Number : Yes Is Question
Mandatory : No

If a solution of maltose (molecular mass = 342.3 g.mol ™) was prepared by dissolving 72.4 g
of maltose in 1000 g of ethanol. then depression in freezing point of ethanol is K.

Given for ethanol. K, = 1.23 K. kg.mol 1 and molecular mass = 46.07 g. mal ™

724 g 8065 (BrdEd = 3423 g.mol™) 1000 g © 2GFS 6 €6 dairdd B35
@0 (K, = 123 K.kg.mol ™! neS9 OETd = 46.07 g.mol™t) wod o
200838 Fo ) 3 K

Options:

| v 0.26

, % 272.74
5 % 46.07

4 % 7240

Question Number : 147 Question Id : 8135613187 Display Question Number : Yes Is Question
Mandatory : No

The half-life period of a first order reactor 1s 60 minutes, If initial amount of the reactant taken

is 50 g. the amount left after 4 hrs. will be

S DO oS Y| Aws) BTl 60 QAnTen. Y 6o HBArnan 50 g wand,
4 fiobiw) ST S AdD TR HBArNe
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Options:
1 % 6.25 g

;v 31259

4% 125

Question Number : 148 Question Id : 8135613188 Display Question Number : Yes Is Question
Mandatory : No

For a reaction. the initial rate is givenas B, = k[4,]°[B,]. By what factor. the initial rate of
reaction will increase if the concentration of A taken 1s mereased to 1.5 times the original. and
that of B is tripled?

28 t0( ), Bbod 6to R, = k[4,)°[B,] ™ 'aasmda&:. A ©60% TrES 1.5, B
a0S), 860 TESRD 3 08D %ot cﬁd}&ém ) .DD;,L 0t DMH?

Options :
1. % 4.50

, % 2.25
3 v 6.75

4 % 345

Question Number : 149 Question Id : 8135613189 Display Question Number : Yes Is Question
Mandatory : No
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The emf of the Dantel cell Zn | ZnS0, (0.01 M) || CuSO, (1 M) | Cu at 298 K 1s E;. When
concentration of ZnS0, is changed to 1 M and that of CuS0, is changed to 0.01 M. the emf

changed to E,. Then find the relationslip between E, and E,.

B ArDedd Edahe bAw cﬁnégj emt 298 K .D‘.g E;.
In| ZnS0, (0.01 M) || CuSO, (1 M) | Cu ZnS0, awws), med 1M 2bowo Cuso, med
0.01 M 7 9) 0y 20030 emf E, & 765, E; 2008 E; © 306§ 50 dotiogidns Da?

Options :
1. ¢ E, > Es

> % E1 < E;
3 ® E, =E

4.$ EE:DiEl

Question Number : 150 Question Id : 8135613190 Display Question Number : Yes Is Question
Mandatory : No

Which among the following sols are hydrophobic sols?

BAD S TOwS” IrEJDSE TSw DD?
(1) Protem
(11) Gold
(111) Gum
(1v) Fe(OH);

Options :
(1), (ii) & (iii) only

_— (i), (ii) & (iil) Qg
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(ii) & (iii) only
(ii) & (iii) Soraddo

(i) & (iv) only
3 % (i) & (iv) Soraddo

(ii) & (iv) only
4 (ii) & (iv) Sordo

Question Number : 151 Question Id : 8135613191 Display Question Number : Yes Is Question
Mandatory : No

Which of the following facts related to halogens is not correctly matched?
B0 &G0 THS" SR VD VoLEBEND VBT 2d DOBLED TR DA?

Options :

A halogen in the liquid state at room temperature — Bromine
18 X068 6 SIErDIS’ (0 TSRS — §'WD

Strongest oxidizing agent — tluorine
RO B850 — TS

Halogen having the highest AHyond dissociation - fluorine

3 o OO Ay 55, 650 OO TSRS - 6D

Halogen which has least —ve AH, ; - iodine
08 LY D —ve AH s mimy SO PSR — OCIFAD

Question Number : 152 Question Id : 8135613192 Display Question Number : Yes Is Question
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Mandatory : No

Two compounds X and Y can react with XeF, to form cationic and anionic species
respectively. Xand Y can be

X 080w Y e Totd ‘dﬁ)&#ﬁ“w, NeF & ST SErairdS B0 BHCITIS
LD Ddhd)f.ﬁ)m. X dain Y Sty

Options:
1 % RbF ,PtF,

, % BF; PtF;

, « CsF ,ShF

4 v BF; ,NaF

Question Number : 153 Question Id : 8135613193 Display Question Number : Yes Is Question
Mandatory : No

Which of this order. for the property mentioned 15 not correct?
BD ArDon)d GTe" G DBTEL?

Options :
Cl, = Bry = F; > [, [Bond dissociation enthalpy]

1 % sz = BI‘2 - Fz = Iz [E\}Gd m{hés QOEFE:)]

HI > HBr > HCI > HF [Acidic strength]

5 % HI > HBr > HCl > HF [e5: evwaw]

HOI = HOBr = HOCI [Acidic strength]

3 ¢ HOI = HOBr = HOCI [#320 200200]
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HClIO, = HClO; > HClO, = HCIO [Acidic strength]
HClO, = HClO3 > HClO; > HCIO [e550 aywdh]
4. % >

Question Number : 154 Question Id : 8135613194 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct sequence representing the order of decreasing magnetic moments of the

given cations,
So08 QARG STLOITD AWS), acﬁsﬂﬂbné T DBALH S0 DB’

Options :

: JMHEJ’ > Fe?t = co?t > Nitt

5 % Ni*t > Co** > Fe?* > Mn?*
3 % Fe?t > Co** > Ni*t > Mn?t

" 2 >
4 % Co?t > Nitt > Mn?t s Fe?t

Question Number : 155 Question Id : 8135613195 Display Question Number : Yes Is Question
Mandatory : No

The complexes [Co(NHy)¢]*" 3CI™ and [CoCl(NH,)5]*" 2€1 have colors respectively

[Co(NHy)g]™ 3CI Basoo [CoCl(NH;)s]™™ 21 0oty Ry are dorben Sdokrr

[

Options :
Yellow and purple

| DAY wdain DEND
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Violet and green
ERET 000N €350y

Green and orange
Hﬂjﬁtﬁ& 003 Ao

Violet and blue
4 % GO B0B030 DY

Question Number : 156 Question Id : 8135613196 Display Question Number : Yes Is Question
Mandatory : No

A tripeptide is labelled as *Gly - Ala - Phe (One letter code 1s G-A-F). The correct structure of
this trpeptide 1s:

s 8 D96 “Gly - Ala - Phe” (G-A-F) e 5830 WODLESD. T°R) BTN ~JT) £330

Options :

T 0 COOH

[ Y
St N NS

I L
0 CHy H

CH;

N

EI']:,_I:_{:{}H:-'I

1.4

H 0
[ I

HEN\EH-,’/ \::/N\(:H/C\N’/{:Hz
) I I

2 # 0 CeHs H

CH; —COOH

S ? COOH

X 7

“m\mm/m\m/ﬁm\mm/’\w/im\
) |
H

€. He
I
3. % 0
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[II;, Hs H 0

|
;/CH\C/N\CH /.E\N/EH
' I

I |
ks 0 CH3 H

CH, ,—COOH
il zm/ e

Question Number : 157 Question Id : 8135613197 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

& Sob t‘f:-dgeﬁb &3\ 0 DE?

CClg
Br;
> ?
Fe
Options :
CCl,
1 ® Br
CCly

Br
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CCly

Br

CBr,

4, %

Question Number : 158 Question Id : 8135613198 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction sequence 1s

) CO/HC, Anhyd. AlCl; /CuCl

> 7
i) [AE(NHR)E]*.r OH

iii) HyO*
BB ArDeDD BO°) S20I0S° DA EByD) ST D6\ES

i) CO/HCI, =8¢ AlCl;/CuCl

> 7
ii) [Ag(NH3)3]+,OH_

iii) H; O*

Options :

HO

1. %
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CH,OH
CO,H
3.
CO,H
, » HO

Question Number : 159 Question Id : 8135613199 Display Question Number : Yes Is Question
Mandatory : No

Aldol condensation does not occur between

S RoDIARAAN ALY VIS FI G 2PS0e

Options :

Two different aldehydes with @ — hydrogen
@ — FTERS (v Totd DD vdra w

Two different ketones with @ — hydrogen

@ — TE2D 6L Gotd D) $6°S w

An aldehyde with with @ — hydrogen & without ¢ — hydrogen

@ — FE2S 60 Botd 8YTE w o — FE2S 5D $&6°S
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An aldehyde & An ester

esd0E 20Boiw D6
4. o - (5]

Question Number : 160 Question Id : 8135613200 Display Question Number : Yes Is Question
Mandatory : No

Identify the substrate in this reaction:

SoB WO[ BENLOIS T HVID Sosradse 6?7

H,S0,
? > Hz C=CH 2
443 K
Options :
Isopropyl alcohol

| % DI TR ) FS

Methyl alcohol
QRS esey) S

Ethyl alcohol

3 ¢ 83O ese) S

n-propyl alcohol

- RS ew) S
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